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OMR TEIAT 213 T NoIce AR 60 (23 (@ ol sJf I 1-72 051 N 9 Tl Pl =22l (2
TitE % Wi*ce F=7 Fif7 @ OMR TEI919ee (@96 (O€I @ | (@Il 430K i Aifacet soweiie Rwas
TS FE ARG FeA FF K |

NS LURRRIEC]
. AT 1:30 IS AMATS T A Fwe e[|

+  OMR TE€a9Iqa TN JGCBIS MeTl/F ol 619D (ATt W Tt iofFe Fa1q Snairs ereh! it #ifp
TG, FI LTS &AfSTH! 2T Te1 Teaa A W< ABTSlF (XS 4975 Ted {5 Fa14 AT 0.25 A
799 AT 2 FOMATS To 20 Al wT IR W@ (@ OMR Tea=@ fwat 723 |

Non-Standard OMR T@7[@ 2T (Fge AT ARRITSILA (SSTAIFA (Jel T4, HFIFeT T
T, 2RITOT TS5 OMRTE#Iga (WS Ji%e &'l (<< wifai o< T2 1 W< 2lied 5jore «6! Fefien
W9 FRAFT6F #1R OMR Tea7@ew FfIFeira 279 Ffea #1faa | Sw2lt OMR Tea 2[aa Jeiiwe it 7124 |

. A M TS/ @e siae A Hiwe i1 AifaR, dhRR (SEEIE AT S
9% I RS IS fAS AT OMR TEI#ia W< eriroda fMawas ool fwaig e | (@I #<rwidic
OMR T&371q '€ #isiq &l AT shrre I MO RRIN FHFe 961, (SR E (OSEIT SWrifFe el [Kabe
29|

. AN T T MRS IS (SEER @I TH1 RS [k e |

. 23w e 2 The Tite eires THT o9 AT eieed 3T THACE! OMR Teasias s dize
foral 27 | THizaerTRCel, eriiTed T T SF¢ T ANTS, AT 2420 T4 LHPFET T ‘A’ 2fFCET OMR
Teaeiae [fne dize A i wnfaq wie. fafwe 3e A" G5t a1t Ff3a =nfaw |

o IERITIC AR 49T LTSI U641 (rough) TN LRFIFOS Rl SBOZ F 2N | AFrwILIc 24541 (rough)
BN TGIAG N T (I 4R90S FlaTere FE (@RI | TeIoiaqe T @2 <541 (rough) T 21 FRISICH 0 S0
390 R IR I(F, (STOAZ T (O &[G JeTR 31 724 |

¢ 2P YN I ATHICS (FIT 40 omrte AfFea A2t I coirare Spjfadt 20e RIS AHICDIIFE 8FS
wg i ol F41 29|

. IS BT 4 SRS (@I AT AT G TR Tewte i w29 |

¢ AT AT 25/ WG ANT (T (TRIZE P, (P04 Al (@RI 4199 ([@foss e A
ol GEee TG AR IHET(e e Seuts al 9571 70 @I AR Pk T SReTs G Al €A
Tz 91 2T TRPTR Belkel 09, (90% (965 Sl Jf61 Reavel 391 29|
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OMR T&z+1afb o3¢ T 7ItK ST S2 [f*se 200 203 (@ 2Mioitg 1-72 211G T3 sjpisfs @sipiE
(e 200z G3% 50 00 2@ (@ OMR TER@D (e O G | (T 21 RS LRt SReTCy W =
RS TR LA2AG WeT P (0 |

» T 1:30 9foFa ot ereral® o1 Fcs LeTa

+  OMRTERItad T[T JEB6Te Aet/FITEN ICAD (21 [ @ e’ Hie Faaia otd 2 A 2w
T, FAst 22Te aife emR oo Tea (remid o Wik \red aIfes g Tea fdioe Fa19 &+  0.25
A (g T AFE 93 FaSire g1 2(e1 Al W FAQA &) (FIA! Sifsfae OMR Tea2l@ e 23 =11 |

+  Non-Standard OMRE&H71q AT (F(d SR A SRR OIHA (@11 193, 2io)f¥eia @i 71, erisifeaa
@S OMR Teasitad e Bt FiteT 900 T @R ANCER 2D 8 (AR 2D «Fi Ifer @
ARATPI5F o102 OMR Tea=iafs AFeITa 57e Fre A | A OMR TER2[T@d Jeliam F1 203 1 |

“Arwidifras FArwEs men TufEs/ @i #Itg ¥aia A S90S TJ, LTI O AT HHIFCT S0 A
FA N @R GSITRIT OMR TEaolg @3k emieia arsae ool (redd TN | (I 2K =H<T OMR
TEa7[q 3R 2hofE Tl (ReTIF ST AW S IR Fw 1 FCE, SIRCE ©iE SIS A0e 9l 1 (A |

ATFIFTE Aot e WS B Aifiseim Sitm @iet T99 S92 Tere 21|

A oo 267t Tive AT erieitar T @3 AR exsitad @re T9aH OMR Teavitad fHfwe i
(T | TRIATTH L, 2T (IS 270 T A, AR e eraioltad (e ‘A e OMR TE&atad
ffre =i A forate =1 @3 72 3e A 6 FiteT e =31

AT 7 LA TG AT (rough) FIST 2RITT (ST BT TS AR | AT 278! (rough) e
OMR TEI919 | O (FI LR TS FACS 2 11 | AW 2T @2 257! (rough) e OMR T&9ica
(R | AW 6 IR IR, O (12 OMR TR/ oI T 203 1 |

«  STHR S i ACHACE (I LA SO TS 20 N4 QR SPIf! 20e1 SRANEn AFAC a2 eiFe g e
ey 1 S|

AT SR (I ATFHLNE ATTHIEH Sfiof FAF Sy rewl A 11 |

ATFRITIR 2R 25/FCF @I g AT (@5 (R3S (i, P09 G- (I C@iess aiiess At
wNioifeF AT Topiint T2 T Sfe e ZE A | ARSI I (ISP TAR SReTTe 0 (el
T A o1 M TR SRS ATHIR FTPTR Geik S IR, O SITR SICialy (el 91 203 |
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OMR TR faemmeat o1e wremwaTat fam=, famforan srat wremate g, 1-72 faw mider faemgwr
wifyr fasmema wiid Yerai= < 3l OMR e faremgan et ararae’ o et wremater e |
HEATRR Sei-aisl HFTeAT i fastrerg! Wreraq T gt e Arafe e arsAt fufemn )

T faren=
o A 1:30 fomfs faen wifer faemeEt sree WerrETe WaHt AreT|

* OMR fir faemef e sEATa femTiaT aous< wemsl e e fom et fanat
Hiferdr WS wEEE @n, wET Aforare: mewms Sitaft mate e arer s deate
i foh AT Tt ArET 0,25 SR TSR AN TR HfrTe: MAer STt ust sl W ia=
TS el 36T TR foeTs e S ST

« Non-Standard OMR = farere smgrammat fafasTa fasnferr Temd maf+ @ 7=r, wify faeet wiit
5, Hify facmsf weEr OMR fir faeef SramTa Srermana MEW @rersT g R famtatt
foemzama i SAfusTaf faemgara dd giEr o foam (emfsmT ) faem s e wreraEt
M| TSTeAT OMR ftAe faeg@ STH=Te ATEFTE S ST

o TaforRRT Was |l a0 | Ted SAFSIE WUEE g e e SEEe i SHme s
IR ARRERTRAT A TeToaRa foemeamd, STl g7 W], SAFSIE SR 316 ARG AT |ifer
faremg 3 OMR fR= faregwt oA T9E | OMR TR o o1Rt Hify feemsat e T fasmfern

E%QSTF@W ER TSI STARGHMA AT THEA™ ST |

o ity faargame SME R S fasiern I@m et T TrR@! T mie |

ity faemst TR mr ity faenzf s @t OMR fR faeef Sremme s faamatt
R fersmieran e s e fafefer anfed, ity faemest we e @remamTe e feetean
T Gityr faemstt s ‘A SEiser OMR iR feemst gremma semare ‘A faer =i e
AW S@e ‘A @ TG ETAra= =i |

o foenfermr migst @ T ™ @I TR (rough) BTHTET Gifr faemef gramm s
WA A | fsforerT e aemArEe "l i faere wen fafe 1em Ihmft o foergama
WA B ST R foegama 9 @rems= 1 AEEPEe (rough) @THIHET fesTifern @remrse ua fore
ferfa (overwriting) TETHISEAT WaT TR T (whitener) OMR Tt faretzama wiFsen & OMR fiRe ozt
A SR ST |

o Wity foemet fosi Tan wHTEAETe WEThi TR GrEear Tar I Q- Sa1 Srarsel gt
Tl TrETeTS Tt faremgEim=T sl ST TETEET S S |

o AR WfAEER MR FHE Taa fosferg! sTsmerfe MR bt TR SR S 77 |

o TSI/ @S HIa frsTIfeIsh §1 A1 JaT Sil 7 T, hetghere’ Wa fafe I@mm = HIEThR Sershe e
T STEiea faf fasferal AT BF/E ST |
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OMR ITR-UASh st ¥ | Uget wdtenefl oz gffyem ot & fof wo-gRaert ® 1-72 ek Tt T8 wArar
Hfea ¥ a0 7% off gifem ot of foh OMR STR-U=eh shaet S & Haitea &1 ferdt oft fammfa ot fearfar
T IO WIT-GRAHRT Sge 7 deohlel [ieTeh aht Gl o |

o 3AUFE 1:30 I W UES THAT-hel W U9-YRedeht =1 et |

* OMR ST-Ueh oh chddl SUH I H Tal I okl Aol dhiel AA-wWge Ua o fafga v 9 gd asdt
9l Rl SATYEh Ug ™, ShITUT WeIHd: TTeTd ST 3R Ueh & U9 o o0 Uen | 1fereh foehew o =&m
T W 0.25 TR 31eh ohT WAL ¢ 3K fgeiaa: fordt oft wahm @t TTemdt e1erar gum & fee
falh OMR STR-UAek &l T STum |

« TX-HTeh OMR STR-USeh & SIdeR o Wl |, udrerrell hl ifamda: STuT T o), Yy=I-gfaent
ATk, UIT-YRAehT SIS OMR ST-UAeh § faU T T ® BTHifehd ST G 9T Ueh JUIHTET 3{
W& w9 OMR SUY-Ueh o 3T 3T W® &l ud ® feamr gm1 e1=rem OMR SHR-Ussh @t
ik el TehaT ST |

o glrentefEt aht fiterer g & 8 Sufkafa et viie W & aF S&aTel i 8T, Ugcll 9R Sf9 gdeme
Te-het H AT He W IS ST e, T T IR Fiverer st U9=-Yfdeht 7o OMR STR-Useh ST &
T | 3R Rt Tdtemeff ¥ OMR STR-T=eh Qi YeH-Yedeht Wiqd Je T&eR &l foht, dl 3§ STguferd |
ST |

o Je-gfer § Hfdte Tom W adiamell ST I HoX Toes w9 H fod |

o gitemefl @ giiyea & o foh 37k g forelt TRt Uy-gRaeht S aUr WIa U9 Yfdeht shis OMR
II-UAF H TE § | IETEUT WE, YIT-YReht i€ i WA GHE, afg wigmell st uy1-iaehT &g
‘A Tuet, 9t OMR STR-Uas | U 71T dfer | ‘A’ Tel@™T &9 a2m OMR STR-Ueh U ‘A’ ohi STHifehd ST
T

o Tlenell Gt TE 1 T (rough) F1 I¥-JRedept H U T TM W X Hehil | TF H OMR SW-T5 AT
37 Tt TE o TS W &l H Tohil | A1 e Th 1 A1 ST OMR STR-Th W fohan 721 =
forSteh =1 waRT foham T, @ OMR STR-U5(h o1 odichd T8l fohal ST |

o T o AT/ EERTuT | foRdt ot faremfar ar ym ant Rearfar # it wewtor & A dem)

o TRIe % <R fREt off wiemedt i wien % Bied i oAl T T

o T IS wamefl Terd Tt ST U IR Sl © SAfq Hideifed |t WA S8 s hiH, Sheghere a1
TRl T i SIgfae AT STeren STrafasTe o ofe, freeh! wien gid/we # oTgafd T2l &, d 39 s/
HIAT ST |

N
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1.  What is presently the minimum age to be eligible for voting in the General Elections of India ?
(A) 21 (Twenty one) years (B) 20 (Twenty) years
(C) 18 (Eighteen) years (D) 16 (Sixteen) years

1. ©Fed AR FRbTe (SHmR (@i T0e IO s I 5 2
(A) 21 («i30) I=1 (B) 20 (=) a==
Q) 18(929)T=H (D) 16 (@) I

1. ORCeA AR FA6E (Sib MR @ISR &) Jos I IO F© 2
(A) 21 (@) =7 (B) 20 (M) =
(C) 18 (TNoR) I (D) 16 (CIIeT) I=H

1. oTfrETdre YA 9ere foamea o fagrma’ 2H1 A SisTgan aieT -
(A) 21 (3 /) drER (B) 20 (3 &) SR
(C) 18 (9 gr) drER (D) 16 (V7" ™R

1. YRd % T gAE § HagH % fore o3 9 % fore adue § =Jaaw o1 91 § 2

(A) 21 (3%pIE) T4 (B) 20 (¥9) I
(C) 18 (3%°RR) = (D) 16 (Hie®) T4
2. What single word would mean the same as “the base frame of a car or bus, or any such wheeled
vehicle” ?
(A) Framework (B) Chassis (C) Cabin (D) Monocoque

3.  Which country is Hollywood in ?
(A) United States of America (B) England
(C) France (D) Japan

3. (L (TS o0 SRFS ¢
(A) ST JSAIT, (B) 3xeTe
C) =™ (D) @I

3.  eTOG (@ (MK SRS ?
(A) i gEAIg (B) el
(C) ™ (D) @loE
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gfeTgal a1l B ?

(A) STHRER U BT ) e
(©) T (D) <mHH
eefige frE Rm H § 2

(A) HIH T AR ®) @
(C) W™ (D) T

Who is known as the Father of Indian Constitution ?
(A) Pt. Jawaharlal Nehru (B) Dr. Bhimrao Ambedkar
(C) Dr. Rajendra Prasad (D) Dr. Sarvepalli Radhakrishnan

OiTed FRE 219 FhCoA FIF Sl AR 2

(A)  ~lfew SRRwE @2 (B) T° ShRIS SIS
(C) T e =AM (D) ©° SE5E e
SRS MR Twss N #Afifos & 2

(A)  oifes Tezee (T (B) T° CHRIS SRR
(C) ©° AMTH AW (D) T° FoE AR
Raf Gfafse fom gam |R fafem ?

(A) . STeTelele g% (B) . P s
(C) . U&= YHR (D) S. HaYca! TETHIH

IR Gfae™ & S & &9 H ford S Sran 2
(A) Y. STETE 8w (B) T ofiTE faeHt
(C) . TSI TR (D) Tf. Helueel THTHSH

“Two weeks from now, the festivals would start”. Identify a single word substitution of the
underlined phrase.

(A) Weekend (B) Month (C) Fortnight (D) Year

The new name for Twitter is :

(A) AXE (B) XX (C) EAX (D) X
DZ5R g I ¢
(A) AXE (B) XX (C) EAX (D) X
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DEBITRR g IS 29 ¢

(A) AXE (B) XX (C) EAX (D) X
EECINERIICE R Ca e

(A) AXE (B) XX (C) EAX (D) X
fraR T

(A) AXE (B) XX (C) EAX (D) X

If 12 mangoes cost I 300 and 15 apples cost X 450, then the total cost of 4 mangoes and 3 apples
is

(A) 290 (B) 109 (C) %190 (D) ¥ 209

T 12 Bt SR Wi T 300 1% 15 B SR WIS T 450 T, (90 4 Bt S W= 3 B SITo1e@ T2 A JJ 26 ¢
(A) %290 (B) %109 (C) %190 (D) % 209

fr 12 6 Sics wist T 300 @22 15 T NoieTa wiw T 450 23, O 4 5 =iw «3g 3 5 Sieeicea (it wiw = ¢
(A) T 290 (B) %109 (C) T190 (D) %209

SfE AT 12 TS S8 T 300 TR &1 15 A SIEHT1 R 450 ST, STl AT 4 oTSSi TR o1 3 St
Y Y S -

(A) T 290 (B) 109 (C) T 190 (D) T 209
afg 12 =1 T FHEd T 300 3R 15 el 1 HTA T 450 7, @4 1 3R 3 el St FoT A ®
(A) T 290 (B) 109 (C) T 190 (D) ¥ 209

Th llest fracti 228 d iy
e smallest fraction amongst 56 7 an 3 1S :

A é B E C é D Z
(A) ®) - © - O 3
456 7 o
g/g/;WgEQH\WW\v?ﬁ\“TﬁT S
A é B E C é D Z
A ®) - © - O) 3
égé OZ —5:“0-‘1‘ o
5/6/7@-]3\8@-@?—@]§E\93\'9 N\ 7‘@0
A é B E C é D Z
A ®) - © - O) 3
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456 .7 -
8. g/ g/ ; AR g IERISKE GRIE JE@EFaE< 3T -
4 5 6 7
(A) % B) o © = D) 3
8. =22’ dom vy
56'7 8
4 6
(A) % B) o © = D) 3

9.  Ason 1% of January, 2024, who is the Speaker of Assam Legislative Assembly ?
(A) Hitendra Nath Goswami (B) Numal Momin
(C) Biswajit Daimary (D) Rupsing Teron

9. 1 SRS, 2024 ACACTE ST [T ST (Fi 2

(A) Terom T oFET (B) TG (IfSw
(C) e s (D) iR (G
9. 1 SRR, 2024 AT ST RAPTSR SF (F 2
(A) ferem e (arER (B)  GIIE SIS
(C) frfers traifa (D) FeAPR (G
9. 2024 HEAHM 1 IR TfATHE ATEH SRYS], SIYAH Ffafian 9r ?
(A)  Tedwse T (B) IAa AfHA
() fowafea o (D) wufd
9. 1SR, 2024 i TEA TIM T F 78T B & ?
(A) fedger Tear (B) IHa WfgA
(C) forwasfa art (D) ®afFT A

10. What does “apple of one’s eye” mean ?
(A) Target for practice (B) Special favourite, beloved person or thing
(C) Most hated person (D) A sincere and loyal person
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11.

11.

11.

11.

11.

Rakesh is taller than Subodh. Their friend Atanu is the only one to be in the basketball team that
requires player’s height to be above six feet. According to height, who is in the middle ?

(A) Subodh (B) Atanu (C) Rakesh (D) Cannot be determined

N RIFSF €2 | (OETHART g, O[3 GG I ARG 7ot TG Ga (o] SSiel FZ IO
(R TSl RHH SfEF T AN | THoo! SR TS FTe (I AR ?

(A) A (B) 1o (C) I (D) fofa s @ifa

A IR R o | O I, SN2 G ACR6I wee] AR (190 T Gy (ARG Gooo] B
FoA (@ 200 2T | Toho! SERRIEAT (F N0 FE SR ?
(A) @I (B) ey (C) [ (D) fefize =1 q =

TR arufrge Sifa | fomiif o stagenel’ arehe oe SRS 9’ Serd qHHT 9’ ST 9rEr
6 Fef ST S | Siterg A9, W9R foRmE 2

(A) g (B) g (C) TFW (D) g

TR, Gl T eIl § | SR SR 3T Seheaiial 29 § wfet 29 & fore wepmm 4 § formes fore faere)
I 9T BT HIe H HW T ST ¢ | 99T oh TR He4 § i B 2

(A) gay (B) o (C) TH® (D) a9 =&l foran s whal

12.

12.

12.

12.

12.

A person purchases a defective item for I 900, repairs it for I 100 and sells the item for I 1800. His
percentage of profit is :

(A) 100% (B) 80% (C) 90% (D) 180%

a5 TG @Bt Bl AT T 900 © T I, T 100 © 26 GRS FF S A7 T 1800 © [
| (OEF ST *OIH (2R ¢
(A) 100% (B) 80% ) 90% (D) 180%

a5 AfE G GHo)el &famT T 900 TR @1 S, T 100 SIFIT (RS FCE 3% T 1800 i fEfemiit
e e | ol aices =foiee 2o ¢

(A) 100% (B) 80% (C) 90% (D) 180%
T gEEEn 9HE TS S SEedl €900 T a2 100 W % 8 1800 U wHfwr 1 fafa
WHAEAER AR SRS STe -

(A) 100% (B) 80% (C) 90% (D) 180%

T Al Tk B (defective) T Tl T 900 H TG T, T 100 H TR AGHI L 7 IR 39 %] H
%1800 H e & | TR TN WO ¢
(A) 100% (B) 80% (C) 90% (D) 180%
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13.

Which language name is correctly spelt ?
(A) Franch (B) English (C) Porteugese (D) Spenish

14.

14.

14.

14.

14.

If Raghu says that his mother is the only daughter of Himadri’s mother, how is Himadri related to
Raghu ?

(A) Brother (B) Maternal Uncle (C) Grandfather (D) Son

o

T Y@ FT (@ (967 MY BT T GFG IS (S0 TG} I 10 fF 77307 7ifFe 27

(A) w9 (B) =t (C) womTe (D) =4

T 7Y A0 (@ O W =2TF N 9Fw0g I01, o Zuifed 793 e & 57=0=F 2
(A) © (B) Il (C) fororrE (D) (s

Sfe wgen g1 e fafq foamn femfs fomft ader’ frarst, e femfeer @ G € 2
(A) ™ (B) fomma (OEREE! (D) g

Afe T e § for STt Wl femis &1 A 1 Thar o ¢, 0 fewifs &1 7 & &0 dafe 2 2
(A) (B) (©) = (D) @

15.

What is the opposite of BEAUTIFUL ?
(A) Dirty (B) Unruly (C©) Handsome (D) Ugly

16.

16.

Why are Red and Blue lights used in Ambulances ?

(A) To alert all drivers, even those with colour blindness
(B) Because they look good

(C) Red stands for danger and Blue for emergency

(D)

They can be seen from far

QYEIEITRS I S 167l 25 [ IS 391 27 2
A) T BIETF, SIF (T TP, Mok FE A

B) (MR ©Ole &9l (RIS AT

~—"

C) Tl Iqel Roiw = el 900! GRS T W SRR B

(
(
(
(D) VRS 2«1 (@2l (ot ™
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16.

16.

16.

S (& N € 1o S 727 71 2 2

(A) TS BT G AR I S| SR SITRF ToF T Gy
(B) T QRTHA (FLCS ©ICEl

(C) = S Rsiw @R T M Sl

(D) @R YR (A (74l I

THCg e | T ST et Tef snferst seram < 2

(A) TS FEARITRRE!, STEa e @1 fadrRa@ie, [ e

(B) HIST TA=@m™

(C) TSI TR THITRET BT STRI AT gx@ms THifY STereema! hiRamri
(

D) d MehR@! MSAHA%EA Tel

Tt B e TR el St i STEnT i ST € 2

(A) T grRE w1 T F % AU, =T T foh 1 Seras At A by off |
(B) wHiifer o 31w fema ¥ |

(C) < T T ol I & AR el STamdenrei feerfa & faw §1

(D) 3= T <@ 5 Fhal T |

17.

17.

17.

17.

17.

A number when increased by 11% becomes 777. The number is :

(A) 770 (B) 750 (C) 710 (D)

(PICT @B FR2TE 11% I FlCeT AICGIN A 777 2 | AT (202 ¢
(A) 770 (B) 750 (C) 710 (D)

GG A 11% I FAC 777 = | A 297 ¢
(A) 770 (B) 750 (C) 710 (D)

HY SFTSHE! 11% BN SRSl 777 S| o 3SR -
(A) 770 (B) 750 ©) 710 (D)

T & 516 11% ¥ 98 Sl € a1 777 B St 81 98 HeA ¢
(A) 770 (B) 750 (C) 710 (D)

700

700

700

700

700
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18.

18.

18.

18.

18.

In India, a vehicle is driven on the

(A) right side of the road with the driver sitting on the left side of the vehicle
B) left side of the road with the driver sitting on the right side of the vehicle

D

CITeIFS QU A l

(A) IBWE CIFICE HETRI 2 S BTG SNG 1R ANETFIE IR AT |
(B) BT AT SCEARI W SR HIerren MBI GHeICs Af2 AT |
(C) B CIFICE HCETRI T B BIETFGH MG T (HFICA AR A |

(D) JBR IASTIE HETRI T AR HIERFGH 2CIT AETHIE A2 AT |

TRCS @I A B =7 ]

(A) AW CINMCP SN HIeRR I0 AT AW
(B) IR ANMCE SR GIeRF I07 AT TS
(C) FVIF CINMCS SN HIeRF IC7 AL TIRMCS

(D) IR JMC SR HIeTR I0 AT AW

IRAE H M |

(A) I STRTSIY e AR SR MR Safe forw |
(B) TATHIM STNTFATY WIeTal STRI W MR SAFTRI 5= |
(C) I STNTSIY AT STRI SreTraman MR swerel fo=rn |
(D) TATHI STRTRATY STeral STRI W MR STty form |

WA H M A I |

(A) USH TR AR, 3R =1eTh A & 91 AR ST B |
(B) WEH & TS 3R, IR AT AT o [E AR 931 7 |
(C) USH o TR 3R, IR =TeTh JMEA & < AR 931 T |
(D) TSH & T 3R, IR ATeTh a1 o a8 3R o2 & |

(
(C) right side of the road with the driver sitting on the right side of the vehicle
(D) left side of the road with the driver sitting on the left side of the vehicle

Paper-V/B 13
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19. Identify the correctly spelt term.

(A) Traffic Single  (B) Traffic Signel  (C) Traffic Signal (D) Trafic Signal
19. ©% JANTIS ! oelle <5 |

(A) Traffic Single  (B) Traffic Signel (C) Traffic Signal (D) Trafic Signal
19. % AR =< Hizrs e |

(A) Traffic Single  (B) Traffic Signel (C) Traffic Signal (D) Trafic Signal
19.  TIRIfe T W o -

(A) Traffic Single  (B) Traffic Signel (C) Traffic Signal (D) Trafic Signal
19. &l o el W2 sh TeEH |

(A) Traffic Single  (B) Traffic Signel (C) Traffic Signal (D) Trafic Signal
20. Which of the following scale is used to measure earthquakes ?

(A) Richter Scale (B) Enhanced Fuzita Scale

(C) Volumetric Scale (D) Reaumer Scale
20. F=ffe @G R giieR @liken gikie Al 9298 11 = 2

(A) R e (B) dfae Ffemt xa

(C) SfeEhT = (D) @NR (7
20. GhRE™ #Afe7] FHCS WHR (I (F IR [ 2

(A) 40 o= (B) «ZIETG Fienel (FeT

(C) ShTETT e (D) R 7=
20. TR o6 Thetsi SR 3 ?

(A) TR wha (B)  SRIEAT BTl Tohed

(C) TSI YT Thd (D) FEmR wha
20. &9 9H % fou fefafed & 9 fa what &1 STEn R S 8 2

(A) TRt wha (B) 31d Hieial whal

(C) daffastfes wha (D) TR Thdd
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21. The sum of the angles of a quadrilateral is :

(A) 90° (B) 180° (C) 360° (D) 400°
21. Bl GOYER (e F[RA [ (NI 2

(A) 90° (B) 180° (C) 360° (D) 400°
21. O30 PTOCSA (FlefE b (iaret 29 ¢

(A) 90° (B) 180° (C) 360° (D) 400°
21. THH STETFs @ TR e -

(A) 90° (B) 180° (C) 360° (D) 400°
21. T IqS o DI 1 AT BT & :

(A) 90° (B) 180° (C) 360° (D) 400°
22.  Which of the following is the highest mountain peak of India ?

(A) Everest (B) Annapurna (C) Nanda Devi (D) Kanchenjunga
22. TIRRRS @G oFeT Thos sRezal ?

(A) GeIEe (B) wrmsiefi (C) TwiwmSl (D) SlewerRal
22. I @0 SRS A s 2

(A) @O (B) mmsiefi (C) «™iad! (D) FlgETGer
22,  9RA SHfeA gren fofafer -

(A) TR (B)  ST=Tqurl (C) =1l (D) S
22, frafafed #§ & #F-W IRG F Fod SN el A6l 72

(A) TRE (B)  3T=Tquit (C) T (D) e
23.  Who of the following was amongst the first disciples of Srimanta Sankardev ?

(A) Madhabdev (B) Lachit Barphukan

(C) Ananta Kandali (D) Mahendra Narayan
23. RIS @F SF & 2R AL RRAPTRT 9w =i 2

(A) R (B) = 9
(C) T FWle (D) 2w TR
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23. O TERema & QNS =iima0idd 29w e RiyoE s e o 2

(A) LA (B) =Ifo® g
(C) TG FWe! (D) 2™ IR

23. RN UR 9EA FE Yeiqar et Sefiar SR TeRd 9 |1 2
(A) TTHESH (B) fad SXEehd
(C) 3T kol (D) H=g TR

23, fyefafed § 4 o1 4iHd veca & v forsdi § 9 972
(A) HHERd (B) ferd ek
(C) a Hafd (D) H&= AR

24. Which of the following set is incorrectly matched ?
(A) M:13 (B) S:20 S W:23 (D) K:11

S N e

24, [RRIRS @NEG NG SIumE Ifenel Y&l S 2
(A) M:13 (B) S:20 (C) W:23 (D) K:11

24, TIBA (PN WEAD GeTOIE (RG] IR 2

(A) M:13 (B) S:20 (C) W:23 (D) K:11
24, TS SR AAARAE fogT -
(A) M:13 (B) S:20 (C) W:23 (D) K:11

24, frafafed # § HFA-91 82 Tord gafad €2
(A) M:13 (B) S:20 (C) W:23 (D) K:11

25. Moreh (Manipur) is a road connection point of India with which country ?

(A) Thailand (B) Nepal (©) Myanmar (D) Bhutan

25.  (AIRZ (A(49)F) SO (0O (TN (FF FeToiel AR 2 2
(A) TS (B)  IolIet (C) Sy (D) o

25.  (IEE (N9 (P MR AL SRCST G0 AT TP Z 2
(A) 2lZEe (B) A& (C) SRR (D) oM

oG
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25. W'Y (AMTYR) 31 9RA IR 97« B 1 Ysiren foy ?

(A) 9TEeITE (B) (C) WMHR (D) qdH
25. HRE (AfTR) YRd &1 fohd <9 % WA TSH G g § 2
(A) oS (B) T (C) MR (D) A

26. If 7 mangoes cost X 91, then the cost of 3 mangoes is :
(A) %28 (B) %35 (C) R37 (D) %39

26. I 75 =wK W T 91 T, (90T 3 Bl R TN 2
(A) T 28 (B) %35 (C) %37 (D) %39

26. W 7T Sesg wiw T 91 9 3 T =esa v 203 ¢

(A) 28 (B) 35 (C) %37 (D) % 39
26. 913 7 AT 99T T 91 <1, T8 3 ATESIT oIGT o ?

(A) 28 (B) 35 (C) %37 (D) %39
26. Ffc7 3TH H HEAT 91 T, d 3 STH I HIAd ©

(A) 28 (B) 35 (C) %37 (D) %39

27.  Which of the following numbers has the highest digit in Tens place ?

G 736 (i) 269 (iii) 958 (iv) 219 (v) 793
A) () (B) (i) ©) (i) D) @

27. FwFEIRS @G AT T BT A NS SRFCO! NCZ 2
() 736 (i) 269 (iii) 958 (iv) 219 (v) 793
A) () (B) (i) ©) (i) D) @

27. IOA (I AR WIS FI A % ACACE 2
() 736 (i) 269 (iii) 958 (iv) 219 (v) 793
(A) ) (B) (i) Q) () D) @

27. TREM w6 sHERHER NH 7 e e e famm 2
G 736 (i) 269 (iii) 958 (iv) 219 (v) 793
A) () (B) (i) ©) (i) D) @

27. fr=fafea # 9 fow 9 &1 36 T8E & WH W ol 31y § 2
() 736 (i) 269 (iii) 958 (iv) 219 (v) 793
A) ) (B) (i) ©) (i) D) @
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28. A number when multiplied with 1111 results in 7777. The number is :

(A) 7 (B) 17 (C) 70 (D) 77
28. @B WA 1111 (I 77 TR AN 5{F0Fe (2R 7777 | AAIH! (207 ¢

(A) 7 (B) 17 (C) 70 (D) 77
28. @3B IFRANCS 1111 B @6l T FeAlFat 7777 = | AT 25 ¢

(A) 7 (B) 17 (C) 70 (D) 77
28. HHY SAHRE! 1111 S WHSTEe 7777 S| o ST | 2

(A) 7 (B) 17 (C) 70 (D) 77
28. T HEA HI 1111 T T[0T A R 7777 I Bl & | 98 G&A T :

(A) 7 (B) 17 (C) 70 (D) 77
29. DPongal is a winter folk festival primarily of which State ?

(A) Tamil Nadu (B) Bihar

(©) Madhya Pradesh (D) Punjab
29.  (S{IR9T JUros (I AT ST (GAIF SR 2

(A) IR (B) fr=a

(C) Wy (D) “igQ
29. ({9 TS (I A G306 ATCTRI GIF G 2

(A) SIfEg (B) fam

(C) Sy (D) g
29. T o TS Meien R e HRel ?

(A) T Tg (B) R

(C) = I (D) U=
29. Ui Gd: fHE T 1 Il dieh ®eR § 2

(A) TfHTg (B) fo=m

(C) ¥ U (D) dE
30. Which word is the Synonym of STRANGE ?

(A) Abnormal (B) Complete (C) Strong (D) Perfect
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31. If the number 47329 is doubled, what would be the digit exactly in the middle of the result ?
(A) 6 (B) 7 ©) 4 (D) 5

31. 47329 TGRS G FRCE TR 05 Elers 24w Skaw! [F 29 2
(A) 6 (B) 7 € 4 (D) 5

31. W 47329 52ls B w1 27, ©iare FeweR 0 TRIEE 9IFG T &1 2
(A) 6 ® 7 <© 4 (D) 5

31.  SIfg 47329 W THM WIETH], ToRANE A f5 b1 o S ?
(A) 6 B) 7 ©) 4 (D) 5

31. afc & 47329 W1 SR X fean G, @ IROMT o 3teh o= § i A1 i 1 2
(A) 6 B 7 © 4 (D) 5

32.  Which of the following items is related to works by Sir Isaac Newton ?
(A) Rocket (B) Atom Bomb (C) Semiconductor (D) Automobile

o o

32. fAxfEie @G bR SEEs Fobas F5€ (3ite T>ifFe 2
(A) D (B) & I C) eI (D) S5

32. IR (M E SAESHF FOHETR SIS Al 7oifFe 2
(A) T (B) oimeifeE @™ (C) wEwRAR (D) o anfe

32. T F¢ SIS IR 3TESeh Haesi 9=l € ?
(A) THe (B) TeH I (C) ©f w<ehe (D) o1 'HaE

32. freAfafad & & F- W M g2 & Fiadl 9 Gaifed §?
(A) Ueke (B) TUXHIY] &H (C) wHIhEHRY (D) stierHemEa

33. To drive a Transport vehicle, an applicant must have a Light Motor Vehicle driving licence
atleast for how many years ?

(A) 3 years (B) 1 year (C) 2 years (D) 5 years

33. SfRAIT A BIRSR AFER AR AE ANEEPIS K PJoToR (F2 TR A 7Y 2 Giafes sizmee A
AR 2

(A) 3= (B) 1= ©) 27 (D) 57
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33.

33.

33.

AT AT BIATR Tl I SRR Poos] © IZFE oY A2 HIEIF Sjeaioig (Giafer izrm)
S 2 ?

(A) 33 (B) 1= (C) 2= (D) 57

BT Tt MR WA= 99 forame THmes oF Mara S 7er M g ad=g om=mE ?
(A) @ER 3 (B) @R 1 (C) @ER2 (D) @R 5

JRae aTe 1 SEIAT TEEd T hid o U SAAgh o IF HH ° HY foha i qoh hl Sooh HISX e
T SISfAT TARdd M1 TRy, ?

(A) 3TH (B) 19 (C) 29 (D) 59

34.

Find the correct sentence :

(A) Please listen to what I am saying.
B) Please listen what I am saying.
Please listen to what I saying.

Please listen to what I is saying.

35.

35.

35.

What is generally considered as proof of casting vote ?

(A) Tick mark against name on Electoral Rolls (Voters List)
(B) Mark of indelible ink on finger nail (or other body position)
(C

(D

) Possession of Voter’s slip
)

Permission to enter voting booth

(DI MYRECS CSIHrIa 25ie 21 oy <1 37 2

(A) e oo (CSiBR Siferm) © Fia [eiSics s[t e
(B) Sllgfer™ w4 (Al =919 B ZTe) [ (il foxfgl o
(C) COIbF ol w15re 2l

(D) (Ol (e A SIfS

AT (OI6 e &l 2T (@i Koo = 2

A) R el (ot SifFrm) T [vidice B oz

B) SIEER 4 (I *FNEE O FI) S  FeR BT

C) (oI &l et il

D) (Sib 9% (I AR SgIie

(
(
(
(
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35.

35.

T FUETEr faarE’ SHEf HREE JEAE S ?

A) foara s gefEme or i

SR (A1 HIRM THU AEFITE) TEHREH @i "6 e
C) forgrra ofH e g Arfiete o9

D) 9 B U BleAl HIFAA

B

~—"

(
(
(
(

fhH 3T TR TR Sie STe T JHIT HHT ST § ?

A)  TARRA I (A gel) § 94 o g fooh 1 fem o
3Tl o A (3 IR F &7 W) W e @Rl F
C) WG T I BT

D) WASH g H Fow i STHfa

B

~

(
(
(
(

36.

36.

36.

36.

36.

3/10 |

The decimal representation of —— is:
(A) 0.5 (B) 0.75 (C) 0.65

_36//150 % TefiTs RIS 2] R 7 2

(A) 0.5 (B) 0.75 (C) 0.65

36/% & RIS 2P e 73 2

(A) 0.5 (B) 0.75 (C) 0.65
3/10

27 7 @ <9ifes SEeE] A6 o
6/5

(A) 0.5 (B) 0.75 (C) 0.65

3710 o ayrrera e
6/5

(A) 0.5 (B) 0.75 (C) 0.65

0.25

0.25

0.25

0.25

0.25
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37. A sequence of numbers is written in such a way that each number is greater than the preceding
number by 3. Starting the sequence from —2, the 10" number in the sequence is :
(A) 23 (B) 25 (C) 28 (D) 30

37. RAF G5 T GG SR ACS AfSTH! 7L 2T 779 FRAEIS(F 3 WEF | Tl —2 ([F TS FCE
B9 I RG] (72 ¢
(A) 23 (B) 25 (C) 28 (D) 30

37. YR G0 T GAelE@ @141 R (@ Ao A 278t TR (5 3 W | — 2 (AF A0 9F FACE
o4 10 ©F R =04 8
(A) 23 (B) 25 (C) 28 (D) 30

37. Y SIS RGN AReTS fatr Sl St fomme o SFswms! AR et fameT o st
3 A | IR — 2 it Sfsreet, IR 10 o sHfsHRE -
(A) 23 (B) 25 (C) 28 (D) 30

37. WEeSH %1 U H 39 YR foran s € T v den fuselt 9@ 9 3 o1fysw 8 ST e B -2 9 g%
F W, THA FI 10aT T& T
(A) 23 (B) 25 (C) 28 (D) 30

38. Ashmita Chaliha plays for India in which sport ?
(A) Badminton (B) Table Tennis (C) Lawn Tennis (D) Lawn Bowl

38. Ol HorEiR (AR (TS ©e (R (U 2
(A) @IS (B) (5371 (5= (C) =19 Gy (D) &9

38. SRl Bl (I (HER SO 20 (AE ?
(A) TG (B) (Bf@ (B (C) == (Bf™ (D) =W &

38. STHMHAT Tfcler YA UTEr o« ASREAREE! et ?
(A) wefged (B) o df™ (C) == =\ (D) oH 9

38. i =iferer ford @ § YRa & fow Qerdt 2

(A) Sefied (B) <o & (C) @M fm= (D) @ d=d
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39

39.

39.

39.

39.

The factor by which a decimal number is to be multiplied to shift the decimal point by three digits
to the right is :

(A) 10 (B) 100 (C) 1,000 (D) 10,000

(I @ T AT i KB fofol ok Giieice g SR I ARG 7[5 FRaetall
eFCO] T2 ¢

(A) 10 (B) 100 (C) 1,000 (D) 10,000

(@ AR AR G0 I3 AT @ T Wi g 24 fon o7 Tins geske =1 ¢
EGR
(A) 10 (B) 100 (C) 1,000 (D) 10,000

T gUeh SATTHNET o8 WSS dTSTsTee <9iTHe faeist STTETTY JFemd ST SR 2
(A) 10 (B) 100 (C) 1,000 (D) 10,000

g G 9 U S HEAT i U ik Surerd foig ol i ikl I T IR TG foha S ¥, ¥
(A) 10 (B) 100 (C) 1,000 (D) 10,000

40.

Which word of the following list is not a pronoun ?

(A) He (B) She (€©) And (D) They

41.

41.

41.

41.

41.

The place value of ‘5" in 425639 is :
(A) 5600 (B) 25000 (C) 5000 (D) 5639

425639 % ‘5’ J BT W (20T ¢
(A) 5600 (B) 25000 (C) 5000 (D) 5639

425639 TR ‘5’ G FT T ¢
(A) 5600 (B) 25000 (C) 5000 (D) 5639

425639 AE ‘5’ T omafaar qEm |1 2

(A) 5600 (B) 25000 (C) 5000 (D) 5639
425639 H “5’ h1 T AF ©
(A) 5600 (B) 25000 (C) 5000 (D) 5639
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42. A piece of land surrounded by water on three sides is called :

(A) Peninsula (B) Island (C) Isthmus (D) Atoll
42. 93 g% Tl Med A ok AT o (iR ¢

(A) Tolglel (B) 1wlsl Q) @ (D) RS
42, foq vt & Rl (@B G e Bfes et ¢

(A) Tomiel (B) Twlsl Q) @ (D) _Eal
42. TERYMY TS SEASTHY @Ry Bl 87 -

(A) fouef (B) feu ©) TY (D) weeAfey sEH
42, o AR A v T o7 5o YfH F1 TR FEAWI ©

(A) WEEH (B) U (C) wdm yfa (D) @
43. What type of horn is permitted in a vehicle in India ?

(A) Multitoned horn (B) Electric horn  (C) Air horn (D) Any type of horn
43. ORSIFS G TS (FIL el Seifrs 2

(A) I el (B) Wwifes el (C) arg el (D) R @I R el
43. RS G0 AT G I AR el (=) s 2

(A) TP el (B) @gfes Mgl (C) Iy figl (D) @ I G2l gl
43. YA W1 JGEA S MR SR TR E 2

(A) TE-TEiTAl (B) HifswemiEM  (C) OR-TMiEH (D) SEfE=TEH
43, 9§ fore o § fFg YR & & ot ergufa &2

(A) TERREEE  (B) solfags e (C) TR (D) Terelt oft e % &
44. The song “Poka Dhanor Majey Majey” was written by :

(A) Tafazzul Ali (B) Anandiram Barua

(C) Parbati Prasad Barua (D) Rudra Barua
44. oIl QIS A0S A& - TS Treg ToP 3

(A) oegE ife] (B) SefraIs =l
(C) IS 21w 7= (D) <@ 3=
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44, “oRpl QR S R NG feTeaee ¢

(A) oFlege St (B) IR =R
(C) ISt epm 3=l (D) @& I

44. ‘‘UE R AN AN AEE! forgl -
(A) TEIA e (B) SIHfeTH w%el
(C) i JHIE w%a (D) &g el

44, ‘‘UH R U A TG TR gRT foran T o ?
(A) TS ST (B) IR =&
(C) TS T ST (D) &g &&3T

45. Which country was Winston Churchill a Prime Minister of ?

(A) United Kingdom (B) Brazil

(C) United States of America (D) Switzerland
45. T3 BIf6 (PR (T 2L e 2

(A) o=y e (B) aifers

(C) SRl ge11T (D) pIERCAE
45. T3H BIfbE (N (e eial e 2

(A) &S (B) Jifem

(C) W ye=lE (D) BTG
45. foa afden 919 BIeXH TR TAyEH ?

(A) FEeE fohem (B) wifSiel

(C) STHER S BT (D) HEIRUE
45. fawa afda foerg <9 & 9o w3t 92

(A) FAeE fored (B) SISite

(C) I T THRE (D) faeels

46. Which of the following is the Article in “Our instructor asked us to push the car” ?
(A) The (B) Instructor (C) Push (D) Asked
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47. The penalty for driving at excessive speed by a Light Motor Vehicle driver is
(A) % 1,000/- to X 2,000/- (B) <% 3,000/-
(C) T 500/- (D) % 5,000/-
47. 79 A QAR HIACS SNfESF @91 9T BT W (2R
(A) ¥ 1,000/- T 7 T 2,000/~ & (B) ¥ 3,000/-
(C) T 500/- (D) ¥ 5,000/-
47. 7Y AL B Bl SrojfE Sifors A2 BlelE G SRl 25
(A) 1,000/- ¢ % 2,000/ - (B) <% 3,000/-
(C) R 500/- (D) % 5,000/-
47. 99 3 AR MR SR SigE TRt MR SeEE gasTEEe ST Se
(A) ¥ 1,000/- %@ T 2,000/- 99 (B) ¥ 3,000/-
(C) T 500/- (D) ¥ 5,000/-
47. T T AR T §RI T ifd | el T T SEiT g
(A) % 1,000/- 9% 2,000/- TR (B) ¥ 3,000/-
(C) T 500/- (D)  5,000/-
48. Who found the sea route to India from Europe ?
(A) Christopher Columbus (B) Marco Polo
(C) Vasco da Gama (D) James Cook
48. TT(AIPR 791 SIS oI AT (e (61 Tz fwe 2
(A) Fwr R (B) W& si’eT
(C) ©rF Ui (D) (TARTE
48. (I 2T (ACF SRCS IAPR M@ 40 (AT 2
(A) TFrbReR o (B) G (oACEN
(C) oIC=l @l A (D) (enpPig<s
48. TIUMHA TRAFTH 1ol AHEE 6 G99 el 2
(A) fhE'®R S (B) ' U’
(C) &R’ g1 TH (D) ¥ FH
48. JUI H 9NT M o G A0 fhe @ie ?
(A) TR HIceE (B) I el
(C) =l € MH (D) S Feh
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49. What does ‘fair’ in the sentence “They played a fair match” mean ?

(A) Very long (B) Within the rules

(C) Breaking many rules (D) All players are seniors
50. Find the odd one out.

(A) 436 (B) 298 (C) 746 (D) 639
50.  Sife R e T |

(A) 436 (B) 298 (C) 746 (D) 639
50. R Yoo (<= e 2

(A) 436 (B) 298 (C) 746 (D) 639
50. sSR! FER

(A) 436 (B) 298 (C) 746 (D) 639
50. SISITS T 9T TR |

(A) 436 (B) 298 (C) 746 (D) 639
51. Identify the combination similar to :

51.

51.

51.

51.

Tyres : Round : Black

(A) Trees: Green: Tall (B) Windows : Glass : Square
(C) Pipes : Round : Plastic (D) Bricks : Rectangle : Red
BRI ¢ IR 2 41 - 98 TR I 7 AFF (S5 0 oelle 75 |

(A) ol ¢ oG ¢ e (B) fRff ¢ 3lo ¢ asf

(C) #AfZst ¢ gadral ¢ 2R (D) 325 ¢ SO ¢ 8l
el ARG IS el 2

OISR & CAllSTIRIA & <FICSTI

(A) 5 2 7S 2 TF (B) TS ¢ I ¢ AP
(C) e ¢ ColleTiRIF ¢ AP (D) 5 ¢ SRS 2 eTlo
W:@:W—W@WW—

(A) foreRt : et : Trsi (B) faf@ : st : =i
(C) UEY : O : TR (D) 3T : 3T : T

TR : A : A~ S FHH SIS Bl 8T |

(A) TS : 7@ (B) faefwar : #iw : SR
(C) =Y : M : Wik (D) % : omd : o
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52. If14+2+3+...+9+10=>55 then 2+3+4+. . .+10+11="
(A) 65 (B) 66 (C) 64 (D) 62

52. TM 1+2+3+...+9+10=55, (ST 2+3+4+...+10+11=2
(A) 65 (B) 66 (C) 64 (D) 62

52. AW 1+2+3+...+9+10=55TF O@ 2+3+4+. . .+10+11="
(A) 65 (B) 66 (C) 64 (D) 62

52. G 1+243+...4+9+10=55, 3=l 2+3+4+. . .+10+11="
(A) 65 (B) 66 (C) 64 (D) 62

52, A€ 1+2+3+...4+9+10=55 W 2+3+4+...+10+11="?
(A) 65 (B) 66 (C) 64 (D) 62

53. Which of the following should not be in the same group ?
(A) Paper (B) Eraser (C) Pen (D) Textbook

53. MRS (@R QU] THS LG SRS ?
(A) i (B) «« (C) & (D) “ef

53. I3 (@D @32 (MDIce A Tive 7w 2
(A) Jlore (B) IYRATRE (C) =™ (D) =

53. &6 HAYAT YIIE I ATST ?
(A) TER (B) @M (C) & (D) fosma

53, frefafed § 9 SH-91 T & 998 W & a1 =fey ?
(A) HITS (B) g (©) heH (D) IS

54. Fill in the blank :
Raju his intention to contest in the next elections.
(A) Wished (B) Conditioned (C) Declared (D) Promised

55. Which word is incorrectly spelt ?
(A) Expert (B) Carpet (C) Dapart (D) Puppet
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56. What would come as the next character after B, E, ], Q ?

(A) T B U © W (D) Z
56. B, E, ], Q3 *_<e! 35! 527 2

(A) T B U © W (D) Z
56. B,E,J, Q¢ e o F %3 2

(A) T B U © W (D) Z
56. B, E,J], Q1 3@ 99 i@ S ?

(A) T B) U © W D) Z
56. B, E,], Q7 91 3G 31&R T ST ?

(A) T B) U © W D) Z
57. Which of the following punctuation mark is missing in the sentence ?

Rakesh suddenly said, Last night I heard a fox howling.

A {1} ® {1 © ("7} (D) {!}
58. What is the antonym of SLOW ?

(A) Fast (B) Reverse (©) Side (D) Upwards
59. In which event did Neeraj Chopra win Gold Medal in 2020 Olympic Games ?

(A) Discus throw (B) Hammer throw (C) Shot put (D) Javelin throw
59. 2020 SEF (TS e (G2 (@Y (TS G 27 oo SR 2

A) T’ (B) (=L’ (C) #5670 (D) (CSem ¢
59. 2020 S SOR (I "7 (Fre0F) TR (BI70] F57e fercen 2

(A) &= e (B) =¥ (C) =670 (D) (erefem ¢
59. 2020 Tfcfaes SEEAREE S TRE o« o™ |91 Jed JiAeiaH ?

(A) feo=m g (B) ®BURY (C) ML (D) Sivfe o
59. %S A9er A 2020 s @al § forq Tq9i | w9oi ggeh i 2

(A) fewmg o (B) TR (C) weqe (D) SEfed o
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60. Validity of driving licence for drivers of goods vehicle carrying Dangerous and Hazardous goods is

(A) 1 year (B) 2 years (C) 3 years (D) 5 years

60. oMo O FoFEE ANT e A T GiZfer MBGHET (@49 TN (2
(A) 13 (B) 23= (C) 33 (D) 53

60. RvTeses G2 QPR A 7/ T AR BT Sl e (GIEfeR FIZET) (R 28
(A) 19= (B) 27= (C) 3= (D) 57

60. TT-91q] TR TRIGTHI SHIGHR SHTSUT HeR TR A S arsa-ai Seremat forem T
(A) @ER1 (B) IER 2 (C) @ER3 (D) @R 5

60. WAE IR NEH T T A M 916l HietaTgs died & el & foit gefam asdd &t dud safy §

(A) 199 (B) 27ad (C) 3ad (D) 5ad

61. The 2020 Summer Olympic Games was held in which country ?
(A) South Korea (B) Japan (C) China (D) Singapore

61. (I (TS 2020 TFET SfeAf(F (4e1 Sfoe C2fee 2
(A) wfFe ifam (B) Sl (C) oW (D) Trsiiss

61. 2020 ST ST T el (@M e Scifers zafee 2
(A) v ifz (B) @l (C) bW (D) w7

o~

61. 2020 Tel| LR 3tferfiash IR I81 SIR—THIA ?

(A) @rell i (B) UM (C) == (D) TR

61. 2020 TeHeRTeH s T fond <91 § STaifed foe 13 2

(A) fao wifEn (B) UM (C) == (D) fEmgR

Paper-V/B 30



62.

62.

62.

62.

62.

When are the elections for Lok Sabha generally held ?
(A) Every five (5) years (B) Every four (4) years
(C) Every six (6) years (D) Every ten (10) years

(PSR W5 AiRelTs (o Sgfos =7

(A)  ©fe =i (5) T2 I3 IS (B) afe Bif¥ (4) 729 (I
(C) efe= (6) T2 LT I (D) =S 7 (10) 7% T T
RIS 15 SldEers & GrIm SHPe =1 2

(A) @fe =5 (5) 7= (B) afe b (4) I

(C) dfo = (6) I=A (D) efe wi (10) 7=

e ARG foramera 'form ¢

(A) &R 59 3T 3= S (B) MR 4 9 37 & SR
(C) &R 6 T4 37 3= S=I (D) &R 10 T 37 376 S
3T TR W AhE & A 9 8 © ?

(A) WU (5) 9 H (B) W IR (4) Ut H

(C) TBT(6) WA H (D) W H(10) 91A H

63.

63.

63.

After picking up his passenger at the office, the taxi driver drove six kilometers before he turned
left at the post office. Then he drove for eight kilometers to arrive at the airport. By a straight line,
how far is the airport from the office ?

(A) Ten kilometers (B) Twelve kilometers

(C) Eight kilometers (D) Fourteen kilometers

(B3 DI G FIETTS TG PEETF NG Ofet = ARG #12 wfod IR TFa #Aieeil, T© (oF
AEFICH g W FENRHR 212 wfogs SR [Rale aw9 st | SR #[ 5w 3vv@e @RS 119
I 2

(A) g ReCEoR (B) 3 Fe=AlfsBR
Q) s FnfioE (D) & ReCafGR

ST O TG (SR 713, H71fR 5 (ARG SIReeT Al e (IS (1emi Siitel = [RFeaifeibia 211G sifercaies |
Sl oI5 it oifE bifeTe o Rsime e CoTfel | SReTER, Sifize (A Rsewe % a2

(A) W FCEToR (B) I FCenEoR
(C) <t ReeafR (D) >m Reeenfiom
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63. W TEEEIRE Hergfafrm foraim a8 i SEarT 6 6. mie s < 1 'sme fa
strfafy ffdam | faft e 8 for.fa. aremerm forll fore’ meime ditkema | oSl Aagfatee foe’
TMATEA SE T ?

A) 5 fefa B) s
(C) == f.fa (D) 9o fRf

63. HECE H 39 IG I o F G, ST Aot SER § o8 JeA § Tt 8 fehairHiet = | fo 5
TATE 31§ W U= & AU 3718 fercimiex ok oam | T et Y 9, wrfad § o ofg fhadt e 2

(A) TH T (B) e fer. .
(O CREX: (D) wieg f.H.
64. The fraction equivalent of the recurring number 0.222 . . . is :
n o1 o 3 o2
49 ®) 9 © 19 (®) 9
64. CoTes{fee R4 0.222 . . . F FIgey @A ¢
N 1 o1 o 2 o 2
O ®) © 75 D) 5
64. SIS M 0.222 . . . GF MT9eT SRR 267 ¢
n o1 o 3 o2
64. 0222 ... 7 99F SrEEERmE! fog
1 ! o 2 o2
49 ®) 9 © 19 (B) 9
64. SOl HEAT0.222 . .. % FAJA 91 § -
n o1 o 3 o2
49 ®) 9 © 19 (®) 9

65. The difference between the smallest of the 4-digit number and the largest of the 3-digit number
is :

(A) 1 (B) 11 (C) 101 (D) 111

65. 4 TIYEG TN M2 B[R 3 SIS I TR NS 22 (207 2
(A) 1 (B) 11 (C) 101 (D) 111
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65. BIF SI(E Fuow 7R Gk o7 SIF T IR T A1 24 ¢
(A) 1 (B) 11 (C) 101 (D) 111

65. wAfTgs gefed A 4 AR M1 s SR safggs <o 91 3w 11 sfsif wrefer

(A) 1 (B) 11 (C) 101 (D) 111
65. 4 i T T DI T IR 3 3Tl ! T TS G& F &g FH FW T
(A) 1 (B) 11 (C) 101 (D) 111

66. FEach angle of an equilateral triangle is :
(A) 90° (B) 60° (C) 45° (D) 30°

66. 90l TR [qoes AfOTH! (FeT e 8

(A) 90° (B) 60° (C) 45° (D) 30°
66. I TN fqgreR wfefb (i =51 ¢
(A) 90° (B) 60° (C) 45° (D) 30°

66. Y RIS STRGT STE-21emmfe @ =1 giEieT -
(A)  90° (B) 60° (C) 45° (D) 30°

66. T GHSTE TS T YAk hIv 6T HE ¢
(A) 90° (B) 60° (C) 45° (D) 30°

67. What does “get out of hand” mean ?
(A) To walk away (B) To be very slippery
(C) To become uncontrollable (D) To getlost

68. A man types at the rate of 45 words per minute. How long will he take to type 555 words ?
(A) 12 min 15 sec (B) 12 min 20 sec
(€©) 12 min 30 sec (D) 12 min 45 sec

68. GG WeZ ASINGS 45 =37 BiZot FR #IICT | 555 Bl *1% 5igel FRACH (06T ATAGH (A 7T
(A) 12 &FG 15 e (B) 12 G 20 (vrre
(C) 12 G 30 (brpes (D) 12 WG 45 e

68. G e Afs TS 45 *1 5IZ2l F@ | 555 *1 5127l FACS ©IF F© I A1 2
(A) 12 WG 15 Cee (B) 12 WG 20 Gde
(C) 12 WG 30 CPe (D) 12 WG 45 CPe
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68.

68.

Y AARA A4 45 9cre/ fAfTerd <= 941 3/ 1 6 555 SRl 2 gl fol 9 99 A ?
(A) 12 fafte 15 %< (B) 12 fafte 20 ¥h<
(C) 12 faf1e 30 Th= (D) 12 Taf1e 45 Th<

T STGHT 45 W6k Ui fie i ST | 2T Lal § 1 39 555 IR <Y R H foh 1 SHI TR ?
(A) 12 fie 15 Qe (B) 12 fHTe 20 Wehe
(C) 12 fie 30 Wehe (D) 12 fHe 45 Wehe

69.

69.

69.

69.

69.

Which word would appear at the last in a standard English dictionary ?
(A) JANUARY (B) OCTOBER (C) DECEMBER (D) MARCH

BT W BRNG NSLTS (FCH! 1 @R e w7 2
(A) JANUARY (B) OCTOBER (C) DECEMBER (D) MARCH

@ *=(0 @6 vl RS SfSUIE GERIE *IE AFE 2
(A) JANUARY (B) OCTOBER (C) DECEMBER (D) MARCH

A T3S e fogete o« digren SAfEe I ?
(A) JANUARY  (B) OCTOBER (C) DECEMBER (D) MARCH

qTeh TS IeehieT U, A1 I1eg Tl 37d § AT ?
(A) JANUARY (B) OCTOBER (C) DECEMBER (D) MARCH

70.

70.

70.

Oja pali is a religious component of which region of Assam ?
(A) Lakhimpur - Dibrugarh region (B) Silchar - Karimganj region
(C) Haflong - Hamren region (D) Mangaldoi - Nalbari region

ST SITR (i ST I 4T TAWE ?
(A) FTHNF - [CGHTT Sea (B) TeTox - sfRsilg Szeet
(C) TR - QACI I (D) @AM - TS S

SEIANE TP (I SEEH G 43T DG 2
(A) A7 - TSI w2ea (B) T[To% - SRIG S1%ee
(C) eI - QI BI=es] (D) BT - RIS Sies]
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70. SSTAICTAT STHMM 96 AFH A GRANR AR e ?

(A) RAY - Tegme (B) TEer=R - ST

(C) o - FHA (D) TTas - FAeR
70. SIS el STHH % oY & &1 T uifHen e § 2

(A) wEH-fegTe & (B) ToerR-=H{imist &

(C) TTRATT-SHA & (D) TR~ Telae! &5
71. What would be placed to continue the sequence 4, 6, 8, 12, 14, 18, *, *, 30 ?

(A) 20, 22 (B) 20, 24 (C) 20, 26 (D) 20, 28
71. 4,6,8,12, 14, 18, *, *, 30 XR4EICH] SRYES AR (P 7T IR AR 2

(A) 20, 22 (B) 20, 24 (C) 20, 26 (D) 20, 28
71. 4,6,8, 12,14, 18, *, *, 30 T BT ACTR T Ft WA TH® 2

(A) 20, 22 (B) 20, 24 (C) 20, 26 (D) 20, 28
71. WGl A 377s QA B 2

4,6,8,12,14, 18, *, *, 30

(A) 20, 22 (B) 20, 24 (C) 20,26 (D) 20, 28
71. 3TIHH 4,6, 8,12, 14, 18, *, *, 30 Tl IR W& o foIw 1 T@n ST =1fe ?

(A) 20, 22 (B) 20, 24 (C) 20, 26 (D) 20, 28
72. Lohri and Baisakhi are commonly celebrated in which state ?

(A) West Bengal

(B) Punjab

(C) Maharashtra

(D) Chhattisgarh
72. TAES! SR (R ET02 (I ASTS oA 91 27 2

A)  ifRpa=Er
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72. RR € @Il SRS ETe (N AeT Tralfere =7 2
(A) AT

(B) Mgl

(©) wFAE

(D) ey

72. W SN dHEGE! 96 SIS WA STl ?
A) GAE ST

B) U~

C) HeRTE

(
(
(
(D) THETS

72. AR 3R S M dR W fHg 19 H AU SH 9 @8R § ?
(A) UfT=d S
(B) HSE

(C) e
(D) TEETE

73. The place value of 2 in 4213.6 is :
(A) 213 (B) 2 (©) 200

73. 4213.6C 29 F W ¢
(A) 213 (B) 2 (C) 200

73. 4213.6- (S 2 G B T 2
(A) 213 (B) 2 (C) 200

73. 4213.6 379 AHE 2 1 et /e fog ¢
(A) 213 (B) 2 (C) 200

73. 42136 2 I HE ® :
(A) 213 (B) 2 (C) 200
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74.

74.

74.

74.

74.

The sum of two numbers is 12 and the difference of their squares is 60. The difference between the
numbers is :

(A) 3 B) 5 © 7 D) 9

V! TR 91T 12 Wi 2 UOIK 3919 “A12f 60 | AN UoIF #H120 ¢
(A) 3 (B) 5 © 7 D) 9

(% AL (A5 12 9= SICAE o1 #A12 60 | 1Ry} 7B ANy 2 2
(A) 3 (B) 5 © 7 D) 9

A AT SSTerTT 12 SR forg )™ i SFee e 60 o ST HF SFE e -
(A) 3 (B) 5 <) 7 (D) 9

S ATl 1 AN 12 & ST 3T o o1 AT 60 B 1| HEAISAT S S9 H HAWE
(A) 3 (B) 5 (C) 7 (D) 9

75.

75.

75.

75.

75.

Identify the word which cannot be made by using the letters present in LEMONADE.
(A) LEAD (B) MADE (C) DEAF (D) DEAL

LEMONADE © < 3¢9 AT 51071 FR IRIR1 2051 oot 5 |
(A) LEAD (B) MADE (C) DEAF (D) DEAL

LEMONADE *[t% $#If%e S 924 0 910w 1 A7 11 %1416 ofze e |
(A) LEAD (B) MADE (C) DEAF (D) DEAL

LEMONADE 379 9T @RS o Herer@! €' g ?
(A) LEAD (B) MADE (C) DEAF (D) DEAL

3H I 1 9g9H Sit LEMONADE # HIS[E 31&R] 1 STANT Hich @l o S §ehal © |
(A) LEAD (B) MADE (C) DEAF (D) DEAL

76.

76.

76.

Which of the following states does not share borders with Assam ?
(A) Nagaland (B) Bihar (C) Mizoram (D) Tripura

RS (S TS ST NG "% T ?
(A)  FoNTFS (B) R== (C) Tt (D) fas

T3 AeTRfeR T @FING SPEE ANES! 797 2
(A) ieTETe (B) == (C) Rt (D) fa=z1
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76. TEMEM Io THSHS STHHES RAHT AAATST ?

(A) TR (B) foer © fa=r'mm (D) frgu

76. frefafad 4 @ -9 U7 3769 % T G A T8 Hd § 2
(A) A (B) fe=R (C) fasiea (D) frgu

77. What is the minimum required educational qualification for obtaining driving licence to drive
Non Transport Vehicle ?

(A) Class VIII Pass (B) Matric Pass
(C) Class IX Pass (D) Not Mandatory

77. SARRITS A GiEfeR ARG AR A LG PTou FEHeTe el (2R 2
(A) 1B =T Talef (B) GF A9 T&lef
(C) = =T TSl (D) =4I T

77. SRR IR SIER SRl Siq (GiRfe] SiRE™) AR TR YRIGH R Pees FEFete (ielrel 1 2
(A) OB =T Tl (B) 5= el
(C) TR =T TE (D) STOETS T3

77. TR Ul T MR WA OrE S aea fog areTeen 9% arait et A’ o o 2
(A) TGl TEA A (B) Hfeeh 3o
(C) @t T I (D) THIOR AT

77.  IR-fae e = ¥ SR Ay % o Seifirn Fwadr S STevEehdr ¢
(A) heT TS U (B) Hfeswk 9w
(C) heT el 9| (D) AfTerd =&

78. Babli was born a year after her parent’s marriage. At present Babli is six years old, and her father
is twenty five years older than her. If the father is two years older than his wife, at what age did
Babli’s mother get married ?

(A) 22 years (B) 23 years (©) 21 years (D) cannot be determined

78. forg-sgs KA I foIwe AN & (2fee | T3 IR 191 = I N 991 391 oize(s o<z 21

s | 3 foige 301 (96T AFR ROTO(F 12 I SEF, (S0 KFole T2 30T ARE S e [z 2fee 2
(A) 223 (B) 233 Q) 213= (D) ffy sf @RI

Paper-V/B 38



78.

78.

78.

foromer e 9 I 7} IR 0 | TSN IR T =7 T2, G2 OF el O (A Ao aea=
T | M @ O FR (ACF 12 IR I 2 O(F, AR W F© T I [N FERRE 2

(A) 223K (B) 233 (C) 213 (D) fefize <=1 =

Sraiferan form-faem e grenf SER & 3Aa SFmW AFel | 31 aefan € SR 3T fafe fawrn fafrge 3 fsen

SR A 1 e fo mafs fafefegg SR 7 SfEm, oteen smafa famen A7 sdiea ge st ?
(A) =93 dER B) AfNgmeEErR () ANMIIER (D) FAEEN

FaA I S IHh HIAI-TIAT o WMET o Teh 91 915 gel o1 | TR decl 88 91 &l 8 iR 35k fim
Y 7= O 98 € | A e oot vl | < 9 9 ¥, o St i o7 i vl fR sw H g ?

(A) 22 9 (B) 23 & (C) 21 9 (D) T3 &l fohan s wehal

79.

79.

79.

79.

79.

A person purchases a defective item at X 1,500, repairs it at I 900 and sells the item at ¥ 5,000. The
sales tax he had to pay is ¥ 100. The net profit percentage the person earns on selling the item is :

(A) 80% (B) 60% (C) 120% (D) 100%

G W2 GB1 a1 AW T 1,500 © T F1 T 900 ([ RIS FRCe O Ao 2 5,000 © [ FeeT |
faferea 251 (o€ T 100 SRy FRa T D11 AN [ SR egzene seiw 591 9 oo o
olfsie 2T ¢

(A) 80% (B) 60% (C) 120% (D) 100%

@Fe 1 Z 1,500 M @3 @Bl 78 @1 36, T 900 e GRS 3@ @3k % 5,000 i 32 [iew 3 |
oIt (@ w32 facs zafest ©1 213100 | 3= e 33 Tfea (i wifere wiices o 21 ¢

(A) 80% (B) 60% (C) 120% (D) 100%

& TEGA ] M SEE SR € 1,500 11 s 2900 1 wem 2M 5,000 T wEiEemE | fo
% 100 Wi A WSET SH9E | o SEe@! BEAM 6T e WHEAm Jarhi Siaeistt Ser -

(A) 80% (B) 60% (C) 120% (D) 100%

T AT 1,500 T Teh T ] T §, T 900 TR ITh! TR Il § 3R 37 I& 1 T 5,000 TR Sl
T 3T S faeht T FgHET A1 a8 T 100 ¥ 1 & H g9 W Al S Y5 o Gavd 1 IRar e a8 @

(A) 80% (B) 60% (C) 120% (D) 100%

80.

Which of the following is correct ?
(A) Good : Better : Best (B) Good : Gooder : Goodest
(C) Best : Bester : Bestest (D) Better : Betterer : Betterest
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81. 2% of 3% of 5000 is :

(A) 5 (B) 3 <© 2 (D)
81. 50009 3% 9 2% (=3

(A) 5 B 3 © 2 (D)
81. 5000 €3 3% @9 2% =& ¢

(A) 5 (B) 3 <© 2 (D)
81. 5000 1 3% 1 2% o1 =@ ?

(A) 5 B 3 <© 2 (D)
81. 5000 3% H ¥ 2% % :

(A) 5 (B 3 <© 2 (D)
82. Which of the following is a Union Territory of India ?

(A) Jammu and Kashmir (B) Goa

(C) Sikkim (D) Telangana
82. f=felde MG SiFes @ (Fm@(ifTe wees

(A) oY T I (B)  calrat

(C) Tofew (D)  CoCERaM
82. WIbd (NG CICed UG (Pl Si=ee ?

(A) o9 € IR (B)  comran

(C) B (D) CSCeTIAl
82. TR Foid WRA et gy stmaern ?

(A) S AR FHEHR (B) el

(C) fafwrm (D) W&
82. Tr=fafad § ¥ hIF-H1 YA o Th Shg T 92 & ?

(A) < 3R HIHR (B) i

(C) faferm (D) d&TH
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83. Which colour of paint is prohibited on vehicles except Defence Vehicles ?

(A) Orange (B) Saffron (C) Olive Green (D) Dark Blue
83. el RO AR T O SISTS (D! <R iz 2

(A) FE (B) (o=l (C) TeTlz (oGl (D) =« el
83. afexrl RO = TSTS Sy AN (Pl 7 Wifa 2

(A) I (B) colzFal (C) TR~ TS (D) il e
83. ol M {@il Y@ty grif MR S Tasl waf M Wi G 2

(A) TR-FHFA M (B) el T (C) SA®E-MiMa (D) HHE fer e
83. & AR ol BISH T aTeAl W ford 11 o1 Ue afvid § 2

(A) AR (B) Hafen (C) ST (D) e et
84. Name the first Swargadeo of Assam.

(A) Suhungmung (B) Suhenpha (C) Sutupha (D) Sukapha
84. PTIE FLL FAMG FF 9 A TS 5 |

(A) PR (B) pr=r¥ ©) be=x (D) B
84. ICINHA AN FA(MG-GF AN & e |

(A) T (B) ez ©) % (D) I
84. 3 wRR fifafe wriesen |rdF ?

(A) T (B) FeTH © TIA (D) FHH
84. ITHH % HWAYYH TS 1 H 13 |

(A) e (B) FeTH © TIA (D) FFH
85. Who was the commander of Mughal army that was defeated by Lachit Barphukan at

Saraighat ?

(A) Man Singh (B) Vikram Singh (C) Vijay Singh (D) Ram Singh
85. *QZA0I TF© DS T 2os +[ifere @1 (e EHR EIAfS i wfeet 2

(A)  W_PR (B) @ foig (C) TR Pr (D) S PR
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85. *RIZAICG Mfb® JFI IR *AIE® (iKet Wi EHIofs & oo™ 2

(A) == PR (B) &&= e (C) Fem i (D) @ Br
85. YUSHTE AMfad sREehTsl ol S el §I-91 BT i< T | |/ 2

(A) wHfH (B) form 8 (C) foma 8 (D) = H
85. IREER ¥ Afad SR gRI TSI el HAT 3T WA shid o ?

(A) ¥ fHg (B) faskw fHg (C) o= fog (D) =g

86. The maximum punishment for drunken driving as first offence is
(A) Upto 6 months imprisonment
(B) 10,000 /- fine
(C) 10,000 /- fine and upto 6 months imprisonment
(D) 20,000 /- fine

86. I6PTE (T 9lIG! HIeWl FRCET AW T I AR *1fH 2o
(A) 6 27T FAme
(B) 10,000 /- I Gi<=l
(C) Z10,000 /- I GREA S 6 T AT FAME
(D) % 20,000 /- F Gl

86. [IPTE 2@ Alew BIEWR T AN SoRlY 2T s =M% =@
(A) 607 7T FiAMe
(B) 10,000 /- &M=
(C) 10,000 /- SR G 6 P 21X TS
(D) % 20,000 /- S

86. il WiieHM MR Wemga= WY grene gqsisen, fafq difamen g sem
A) TH 6 T Sha9 wife@re S ST
B) 10,000 /- SIRHM

C) 10,000 /- SREAMI 3R H 6 Tam S Aferare S ST
D) ¥ 20,000 /- SIHF
86. I H TSl IO W Ugel IR i AHAH T g
(A) 6TEA T&H H HS
(B) ¥10,000 /- 1 AT
(C) 10,000 /- 1 AT 3R 6 TEH Tk I e
(D) 20,000 /- 1 JHFAT
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87. The minimum educational qualification required for a bus conductor licence in Assam is
(A) Class VIII Pass (B) HSLC Pass
(C) Class IX Pass (D) Not mandatory
87. SPING AF FUIT (AAfRGIEF) T AT AR A AT PTou #Fiae kel (202
(A) SR T TEI (B) =EFH frweig o1 Telef
(C) T =T T (D) ATORETF T2
87. SN A #ABIETe (FSIT) Seyeal A (IR NG ARG 12 e #1197 (lolrol 21
(A) 1B T &l (B) =EFe g o Tl
(C) T (= TEref (D) TORETF
87. STETHE A8 HUSHRR AR fog I UEM aHF arSTee Hiendrm A7 o Sem
(A) gl A A (B) Hfeek 3furm
(C) gl T 3= (D) TIMIgR 71
87. UM H 99 whedel ARHY o U STavesh =IAan Aefforh e 7
(A) TSl hEl q™ (B) TH TH TA U
(C) et e arE (D) SAfam
88. The HCF of 12, 24 and 30 is :
(A) 2 (B) 3 ) o (D) 12
88. 12, 24 < 30 J PN (R 3
(A) 2 (B) 3 ) o (D) 12
88. 12, 24 ¥R 30 @S I 21 8
(A) 2 (B) 3 C) 6 (D) 12
88. 12,24 3 30 f7 <. foga -
(A) 2 (B) 3 ) o (D) 12
88. 12,24 3fR 30 I HETH HHITAAS § :
(A) 2 (B) 3 C) 6 (D) 12
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89. Which of the following places has the largest cricket stadium ?
(A) Dharamshala (B) Kolkata (C) Motera (D) Hyderabad

89. TR (SN 2e e [Fwh (BRI @it 2
(A) <= (B) FerFrel (C) WAl (D) TRMIRM
89. <ICOA (P TRINT YR G &6 (BT =g 2

7

(A)  «*TeTl (B) <FeTRIOl (C)  CCHA (D) ZF@RMW

89. TEEM s A < fohohe ©feaw €2
(A)  HTESE (B)  SheTahIdl (C) # (D) THESEIE

89. fr=fafad # & ford T W wed we fopehe Rfeam ®2
(A) eI (B)  hIcTehId (C) dHrew (D) TEE

90. 121 + /81 + /25 is equal to :

(A) 121 (B) 81 (C) 25 (D) 36

90. 121 + /81 + /25 ¥ ¢

(A) 121 (B) 81 (C) 25 (D) 36

90. 121 + /81 + /25 @3 7= ¢

(A) 121 (B) 81 (C) 25 (D) 36
90. /121 + /81 + /25 & S 9HE
(A) 121 (B) 81 (C) 25 (D) 36

90. 121 + /81 + /25 oA ® :

(A) 121 (B) 81 (C) 25 (D) 36

91. The maximum age limit to obtain a driving licence in India is .
(A) 65 years (B) 70 years (©) 80 years (D) Age, no bar

91. TIREITS GiEfeR ARG FC FRIF A TR AEH A (2R |
(A) 653 (B) 703 (C) 803=A (D) <R (I A
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91.

91.

91.

SRS BIFE SIeE! #1q (Gi3fSR FiErE™) “eqd A RPN 26 |

(A) 653 (B) 709 (C) 803=A (D) JIWCR (I A (72
IRArd eefY A fegam e sifgmen s fammen |

(A) ¥R 65 (B) SR 70 (C) <R 80 (D) S o T

IRd H SEf6T ARHd U i & AfHdhan 3T W § |

(A) 65 TH (B) 70 & (C) 80 = (D) 3T W &g Ueh el

92.

What is the Collective noun for bananas ?
(A) bunch (B) pack (€) bouquet (D) bowl

93.

93.

93.

93.

93.

The compensation for ‘Hit and Run” Motor Accident case resulting in death is
(A) Rupees One Lakh

(B) Rupees Two Lakhs

(C) Rupees Two Lakh Fifty Thousand

(D) Rupees Fifty Thousand

59 SICIT FI|l ARG 26 Qe I 212 YOI Joreriae FiRers Fioo el -+ (2R
(A) G =1 Bl

(B) W2 &N G

(C) WB =AY s TSR T

(D) e F&N 5l

AT 71 IS 26 Qe A 212 TR F0e O Tl FFrooIRed 4ol za1 |
(A) &% Bl

(B) 72T Bl

(C) W2 oTF 7= TSI GIFl

(D) 7l & GIwl

‘I @R A (fee e W) Wer MR Sgeme | gee 53 imee 1 wrf /e wttern

‘fee T W' Hiex goe e § g & fow < 9 arelt gerers i ufi ® |
A) T& d@ T

B) T @ I

C) T IRE T4 TR T

) U= TSR 9
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94. Identify the Conjunction in the sentence :

Rakesh and Subham are good friends.

(A) Are (B) Good (C) Friends (D) And
95. The capital of Australia is :

(A) Sydney (B) Canberra (C) San Francisco (D) Sao Paulo
95. ST AGH! (2Z ¢

(A) e (B) Al (C) = FIfE (D) ®e 2TeT’
95. SRR A 8

(A) frel (B) <l (C) ¥ FFPIF (D) e AeE
95.  3TSAfCTA Tsterefa -

(A) ot (B) MM (C) ¥H wHfgE®' (D) UE UEd’
95, afefern @t TeHE ©

(A) foaet (B) eI (C) &7 whifawan (D) G w=all
96. The count of prime numbers between 1 and 20 is :

(A) 7 B) 9 < 8 (D) 10
96. 19 %1 20 (51 GNfeRE FRAPTRI JJ 9Vl 2

(A) 7 (B) 9 < 8 (D) 10
96. 1 (U0 20 & S0 CAMOTF TR (S 27 ¢

(A) 7 (B) 9 < 8 (D) 10
96. 1 STIfIZO IRRISKE fl?{T AT HiAaY ?

(A) 7 B) 9 < 8 (D) 10
96. 1920 % o= 1w wemsd &t frdt ©

(A) 7 (B) 9 < 8 (D) 10
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97.

97.

97.

97.

97.

The average of first ten consecutive natural numbers is :
(A) 5 (B) 6 (C) 55 (D)

2N TZ5! FF FISI[E A oG ¢

(A) 5 (B) 6 (C) 5.5 (D)
212 7*If5 FNF FreiiRS A2 91T =67
(A) 5 (B) 6 (C) 5.5 (D)

wifare s faifa w9 5 fafem st w5
(A) 5 (B) 6 (C) 5.5 (D)

YT TF AN Wihfask Gensii &1 siga ® :
(A) 5 B) 6 (C) 5.5 (D)

6.5

6.5

6.5

6.5

6.5

98.

Which of the following is a proper noun ?
(A) Big Ocean (B) Wide River (C) Deep Lake (D)

Pacific Ocean

99.

99.

99.

99.

99.

Which of the following is not mandatory for a commercial vehicle in Assam ?

(A) Vehicle Registration (B) Night Driving permit

(C) Pollution Under Control (D) Fitness Certificate

SETTS AT e (TS WRERS (G AORETS T2 2

(A) Az AT (B) Towell SIS LR Seyeel i
(C) avEd fNIEeT® I (D) ToEeR Alcog

I (PG =PI AfATEnss N Gay ATORES 77 2
(A) TR TR (B) TS 7NN BN e 7@
(C) =il feiarmcel AP Tictoia (D) @Isrei 2=esia

AT TMCRRAT TR SorT STETHTE TR ST ?

(A)  TREA 9f~<er e (B) WG A= T
(C) TS THUEAE Gffthehe (D) freTw dféfhehe

199 anforserer ared & fau f=fafaa 3 9 = s1fad &9 €2

(A) T TSeRor (B) i grsfeim wfie

(C) gguu F=or § 2 (D) UG hl FHTOTTS
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100. What is a collective noun for dancers ?

(A) Troupe (B) (C) Panel (D) Board
101. Who wrote Arthasashtra ?

(A) Brahmagupta (B) Swami Vivekananda

(©) Raghuram Rajan (D) Chanakya
101. w27 (pic fefifest

(A) =Y (B) =T Rz

(C) <IN e (D) ©lay
101. S ¢ forcafecem ¢

(A) F=ed (B) =N Raiew

(C) AN e (D) ey
101. SFfRITEREl {1 foraEH= ?

(A) S (B) iy fefsierr<

(C) THUH S (D) =mureR
101. 3Feieme foheq foran ?

(A) SR (B) @l faeerg

(C) TUH TS (D) =T
102. Mark the correctly spelt word :

(A) Essantial (B) (C) Essencial (D) Essential
103. What was the name of the capital of ancient Kamrupa Kingdom ?

(A) Darranga (B) Pragjyotishpur (C) Garhgaon (D) Itakhuli
103. bW Fwel e Gl I [ S 2

(A) w=K (B) esitenifedss  (C) iesie (D) 2BIYfer
103. IbIH ISR AT AT A & 2T 2

(A) w=R (B) weitenifeasm  (C) oioslie (D) EGIgeE
103. TR e TS TS SRTHA 2

(A) S (B) WFHTGRIR (©) TS (D) T
103. = HEET THA shi TSTEHT BT a1 M o1 2

(A) = (B) W (C) T (D) EeTget
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104. Identify the item which is not of same type.
(A) Payment (B) Rent (C) Price (D) Bill

104. fCH1 5| 2R 72, (12 ACH! b 75 |
(A) AR (B) ®iul (C) T (D) SRS

104. G LR T 2€ #U(G FAG el |
(A)  sifdesiiy (B) wIul (C) (D) SRS

104. U@ A& A f9m9 |
(A) BT (B) &Y (C) &8 (D) foa

104. 39 372 I Y8 i ST Teh B YR i A8l € |
(A) YA (B) et (C) hiHd (D) fo&

105. Who was the commander of Koch King Naranarayan’s army ?
(A) Raghabendra (B) Chakradhwaj (C) Tingrai (D) Chilarai

105. (FIGIS! TSRO IR ETife (i =Nifest 2
(A) IEH (B) bERS ) foaiz (D) oo

105. (F (35 S TR CWRAIRTR G e 2
(A) FEH (B) b&RS ) foai (D) foem

105. 9 TS TAREA HHY TR TR 2
(A) TR (B) HshearSl ) fim= (D) ToemmE

105. I TSI AN hi A1 o HA9(d i & ?
(A) TS (B) e (C) TimE (D) ToemmE

106. The triangular shaped traffic road sign falls in the category of
(A) Mandatory (B) Informative (C) Cautionary (D) Emergency

106. fa@ITR SiFfon T2 2129 H=ov! Gl («@d7 swve, O/l (2= |
(A)  ITORERE (B) ITHAIEE (C) ToFOIETT (D) TRIIPIET
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106. favs wigfea i s12foz @ (=i swafe 1o |
(A) TGOS (B) IARETE (C) AFOITE (D) & It INeT<s
106. TTHEE A WA ARG -2H Hek s RAFE! 1 |
UNBRERIEE: 15 (B) @rismR (C) dHIeTR (D) @ TR
106. TRIVIT SAHR 1 AT T Fog e goft § o1 © 9% T
(A)  FIfer (B) H=ATcHR (C) HEu™ (D)  SATATehRTA
107. By what factor a decimal number is to be divided so that the decimal point shifts by two digits to
the left ?
(A) 0.1 (B) 10 (C) 100 (D) 1000
107. <51 WIS AR M1 KWCo! Y61 ST 1S THACH BTRS TR0 290 BRI AN FAR2CH! ¢
(A) 0.1 (B) 10 (C) 100 (D) 1000
107. @30 wifs 74N wifse [R(G 12 2 Aiuce BHEike e [FeR 7idl 279 F909 2@ 2
(A) 0.1 (B) 10 (C) 100 (D) 1000
107. HHY <A SHSHE! HTsi Teen goifies foargen smfafe @9 7 gt Sadee ?
(A) 0.1 (B) 10 (C) 100 (D) 1000
107. Toreht emera de sl fhe wres 9 fawifsa foean St aifer Serera g <1 ofeh ot SR ToHiaia & Sy ?
(A) 0.1 (B) 10 (C) 100 (D) 1000
108. Who presents the Union Budget of India ?
(A) The Finance Minister (B) The Prime Minister
(C) The Home Minister (D) The President of India
108. OIS (IR ACHE (I WIS F(F 2
(A) foeng (B) g
(ORI (D) SRR IS
108. (F OINCS (LR SRS (ACEH) WIS T 2
(A) few@ (B) el
(C) =g @l (D) @iHCes Agafs
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108. R g Jelrersal | hrrE 2

(A)  TAR A1 (B) TR HAMY

(C) &R HAfY (D) 9RAM BRRATR
108. RA B HelF Foie i Y& Il § ?

(A) o= =5t (B) 9uM H3t

(C) TEHA (D) Rd % Tsgafd
109. What is the synonym of BRAKE ?

(A) Parking (B) Slow (C) Clutch (D) Gear
110. Choose the correct option : Teacher Puja for her bad handwriting.

(A) Scold (B) Scolding (C) Scolded (D) Scolder
111. Jonki and Panei are characters of a story based on which community ?

(A) Dimasa (B) Idu Misimi (C) Mising (D) Singpho
111. SK R AR (& T2mEs fofe S 6721 95 901 5[/g 2

(A) T (B) =y fbf () ffee (D) foscest
111. X[ 8 it (i T2 Toia fofe w1l «fG sitsm ofa 2

(A) TP (B) 2w R (C) TIfi (D) e
111. St AR I a9 g 9'a ' ey -

(A) femmam (B) sg fafaf (©) fafd (D) faw’
111. et 3iR 798 ford TYE™ R oenfd Fert & I § 2

(A) fewmen (B) g fafast (C) fafgm (D) fHTHI
112. In which of the following, cash amount can be withdrawn ?

(A) ATM (B) NEFT (C) UPI (D) IFSC
112, WRERS (GHGR 2= 797 @ SR A1 2

(A)  «fbaw (B) «wzawfo (C) TTPreEE (D) wN29FaED
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112.

112.

112.

SI5R (@RS 757 BIFl ColeT T 2

113.

113.

113.

113.

113.

(A)  @fbaw (B) 29w (C) TTfreNR (D) N2amgAHT
TIE T B MR JafTwr foga g ?

(A) T (B) TASUHS (C) wsdiems (D) STETHTHH
e gty el # 9 forg w e s w8 2

(A) T (B) TARTH (C) e (D)  STRTHTHH!
The armies of East India Company defeated Siraj U” Daulah at which battle ?

(A) Battle of Buxar (B) Battle of Plassey

(C) Battle of Nalapani (D) Battle of Jhelum

(I Tae 28 e @R Wiz haaem @ *[ifere SR 2
(A) SR T= (B) ~@IbR Im
(C) ARTE IF (D) @R Im

I I07 25 24T @I GRS Presm s “[ifes aEiE 2

(A) TSI (B) =RE =
(C) TR = (D) R o=
3w fvean s dfamh faust 3 Sl 99 SaeEE Her ?
(A) THRE SRt (B) oAl greren
(C) FreTaTf et (D) ST <Ter

3w e St ot Il A foust SEjen 1w g5 o w2
(A) FRTFRIS (B) T w1 IF
(C)  rerraTt % g (D) ™ 1 45

114.

114.

When TANK is coded as KNAT, then what would be the fifth letter if PROCESS is coded in the
same way ?

(A) C (B) E © O (D) R

Tt TANK & KNAT (@ F'C 341 T, (9% 7+ $'T6 PROCESS 3 f#1fte1 2019 2126w <101 & 27 2
(A) C (B) E © O (D) R
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114. WM TANK 93 Fofel» KNAT 2, O PROCESS (F GF2I([ ALFORACS o1 SR A% SFFai’
I 2
(A) C (B) E © O (D) R
114. 9 TANK @ KNAT %€ @AM, 3Tea PROCESS Wl T € Wlemeet faf afe gi@ist |1 S 2
(A) C (B) E © O (D) R
114. 519 TANK &I KNAT & &9 H ifed foram S 8, @ PROCESS &I 36 YR Fifed fhT 91 W, 38H
i &R S B ?
(A) C (B) E © O (D) R
115. Which of the following is not the name of a Continent ?
(A) North America (B) South America (C) Arctic (D) Antarctica
115. SRS (PG @F TR TN T2 2
(A) TEOERA  (B) W SRR (C) YR (D) @HHOF
115. TIo3 (IR G S=ICACR 0 7 2
(A) TEwiERA  (B) R SRS (Q) P (D) SOOI
115. TR Ja HTHET TEHT AT ?
(A) ET1 STHRR (B) Wien MR (C) UHE (D) T=RfeH
115. fAfAfEd -1 T TRIEMT 1 TH & © 2
(A) 30 sEfer  (B) SEW sERem (Q) W e (D) feTehfee
116. How can you distinguish a Transport vehicle from other vehicles ?
(A) Looking at tyre size (B) By the colour of the vehicle
(C) By vehicle size (D) Registration number plate
116. =R AT QLT (FINCH! T 57 B S A2 9491 7 B S «Aif 2
(A) RIS SR (B) NEH Il
Q) AT =R (D) “AGRW TR T
116. S SMER AT F1 (0 Wil #ifazs qies biee wre 2R 2
(A) BIFE SIFR @ (B) AICR A0ER @il
Q) oMK IR 7=l (D) AGRW TH T
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116. 719 g Hell MR A MRERA T5wre A fa=meee 2

(A) TERM SRAFE! TAH (B) TR e AEAH

(C) TRM RS (D) Tf<rad TR el
116. TF URAGT A1e w1 3T ATE § hdl ST he 2

(A) 2RR % STHR hHl TEHT (B) dRA®WH

(C) 9T SRR 9 (D) USTRLU §&AT @IE g

117. Which Pronoun can be used to refer to your friends running at a distance ?
(A) We (B) It (C) That (D) They

118. Find the value of 18—[6—(4+2)] —5.
(A) 9 (B) 16 (C) 13 (D) 11

118. 18—[6—(4+2)]-5F W ¢
(A) 9 (B) 16 ) 13 (D) 11

118. 18—[6—(4+2)] -5 @& SN (7 74|
(A) 9 (B) 16 (C) 13 (D) 11

118. 18—[6— (4 +2)]—5 1 7 fagr -
A) 9 (B) 16 (C) 13 (D) 11

118. 18—[6— (4+2)]—5 1 AH F1d 1 |
(A) 9 (B) 16 Q) 13 (D) 11

119. The area of a square is 169 metre?. The measure of the side of the square is :
(A) 17 metre (B) 19 metre (€©) 12 metre (D) 13 metre

119. <6t (Fas Crawe (202 169 WHI2 | I5(THanR A9 (@i 29 ¢

(A) 17 RoR (B) 19 o™ (C) 12 [RoR (D) 13 "oR
119. @3 F0ofa Fifet 169 b2 | 39(T7 i Mot == ¢

(A) 17 Bo= (B) 19 fom (C) 12 % (D) 13 o
119. HE A A 169 m2, o I STRET AFAEH @

(A) 17 m (B) 19 m (€ 12m (D) 13m
119. T o 1 &R 169 T2 § | 37 1 [T I A ¢ :

(A) 17 "X (B) 19 HiX (C) 12 HrX (D) 13 HiX
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120. The flag of which country is triangular in shape ?

(A) Brazil (B) Kuala Lumpur (C) Sri Lanka (D) Nepal
120. (PN (S ISRl “foi fagengfes 2

(A) aife= (B) RTINS (C) &rer= (D) THME
120. (PN (MCR AT SNPhe [qgeia 2

(A)  Fifea (B) IR Q) A= (D)  CIofe
120. oo T FRtRamn smaf-oream eifq ?

(A) s (B) eIl YT (C) diciem (D) U
120. o <91 1 et ol SR #7182

(A) SIS (B) AL (C) dicihl (D) Ul
121. Which of the following was not a ruling dynasty of ancient Assam ?

(A) Maurya (B) Varman (C) Pala (D) Koch
121. RRERS M[eq @HE! I Lb T SR *7s 3% ifest 2

(A) TR (B) s (OEEC (D) (6
121. 0% Tl @R b SPeR =oe qreRe @ a2

(A) o (B) (C) =i (D) b
121. TEMEE S o TSR TSl TMeTg STETHE! T WIHRg ?

(A) (B) @A (C) Tl (D) w4
121. Fr=fafed # 9 SFE-91 I=9 3T99 &1 9w TSE9 Ta@l o1 ?

(A) WH (B) @A (C) (D) ==

122.

122.

In which sport did Deepa Karmakar represent India ?

(A) Badminton (B) Shooting (C©) Gymnastics (D)

ol FAFIE (R (o7 Siges gfoffag sRiee ¢
(A)  (@OEG (B) e (C) fermifes (D)
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122.

122.

122.

Tl S SO (i G oty Afsifag seafee 2

(A) GG (B) &bz (C) TEmmRt (D) (GRe (BF™
AT HHRIT YRA STEr | o) 2
(A) defa=ed (B) e (C) fowfee (D) dee df"

a1 FHHR F f7E @ § 9IRa 1 gfafafae fwan ?
(A) et (B) gfm (C) e (D) <Fa =

123.

123.

123.

123.

123.

First serialized on social media and then published as a book, Life of a driver : Cabin’or Ipare is
written by :

(A) Pratibhu Dutta (B) Rupam Dutta (C) Debabrata Das (D) Ramanuj Goswami

22U AMIET Mywe GRRIETeE, e o SHIE 2Fie @R 737 979 9 GI2eF ¢ (7T 290
fFotoree fordt wfese ¢

(A) dfcg we (B) FolN7E Q) RS (D) IS Cafrgrn

2T ANITEE T LA 2 S @32 ST39i7 32 2@ dhie 263 7337 92F @ BI39)F ¢ (FRa7
BT ToTeae ¢

(A) dfsg we (B) FITE Q) RS RA (D) FES Corgrs

frrforama difede fafearame wik wfE o faft s fasmaftt @&t foga smme fosie aew 3% T sew -
@l T FTR @t | foaem -

(A) iy <T@ (B) ¥UH T (C) <o S (D) IS TRt

el AT Hifean W g, iR fR U q&as & &9 H Y1V, g% 3% T SIEaR : ik 3R fomaeh
g forelt 7 2

(A) iy T (B) ¥9H TT (C) <oe[ T (D) THTS TrearHt

124.

Name the punctuation mark “:’.

(A) Comma (B) Colon (C) Hyphen (D) Exclamation
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125.

125.

125.

125.

125.

A yellow coloured number plate on an Indian vehicle indicates :

(A) Electric vehicle
(B) Commercial vehicle
(C

(D

) Ambulance

) Governor’s vehicle

GO AL QKR eI A (20 6 A 2
(A) Eygfes e

(B) ifafer<s e

() @Y™
(D) AT Al

OIS NECS o7 T06 TR o 0 8
(A) gfes anfe

(B) aifdferss anife

(C) w2 ¢ SRR AAfaReld NG (SHrgeer)
(D) sepsiiceTa Alife

RATE MR TR THelrare T e oTeel | JSisal ?
(A)  Hifserasii @I M

(B) TRIGHNTATR MR

(C)  Tol TR MR

(D) TESHRE MR

IR Al R et 1 i FoRweie a1 <t § 2
A)  foe[dE e

(
(
(
(
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126.

126.

126.

126.

126.

Who amongst the following led the 1857 rebellion against East India Company ?

(A) Rani Ahilya Bai (B) Rani Laxmi Bai
(C) Chand Bibi (D) Rezia Sultana

2 el (@i Rera 1857 be (2[1 Rcuies WRERS (@R RPN (woy Mz 2

(A) T =iz Al (B) [t =TI Al

(C) vwRR (D) @&l perel

R TraiiomR W (& 25 2w @R [Eca 1857 AR [Reaiz @(Tog Ml 2
(A) [N o= A (B) ST == Q%

(C) v &R (D) el FpToi

T zfoear wrIf SRE™ 1857 1 WHeRAR—E! G- SSATHA ?

(A) T STEe =g (B) T wieHt =

(C) =< fafe (D) XS g

frafafaa § @ feam de e Sot & faams 1857 & fagie 1 S fhan?

(A) T Afeen g (B) Tt et W
(C) =ic sl (D) 5= goar

127.

127.

127.

127.

127.

Which of the following words would come first in an English Dictionary ?

(A) Hectometer (B) Decimeter (C) Kilometer

G FAGT wfeHiTe FHERS (! deo o 2
(A) Hectometer (B) Decimeter (C) Kilometer

A (I = (b ZKeAfer Sl AT S 2
(A) Hectometer (B) Decimeter (€) Kilometer

MR o Hiare 30 Hiard fagsta famife s ?

(A) Hectometer (B) Decimeter (C) Kilometer

Frefafed 9 SF-9 v TS Teaenie § Fod 98l 31T ?
(A) Hectometer (B) Decimeter (€) Kilometer

(D)

(D)

Centimeter

Centimeter

Centimeter

Centimeter

Centimeter
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128.

128.

128.

128.

128.

Which of the following equipments is mandatory for petrol vehicles of India ?
(A) Spare wheel

B) Windshield wipers

Catalytic converter

GPS tracker

©leq (A5’ Bifere 9G] T[ze Wi @wikiy gl Lo ITORERE 2
(A) eoidiwe 53l

(B) T3efars Aizoi

(C) SRR FATGEE ((FOIEAIZ0F FTSI0E)

(D) f&Faz Gl

OIS (PGl BIfeTe IR Ty WRERS (@ g™ e ¢
(A) e bisl

(B) TIHIIT GAZIAR

(C) SHRLEE FAGPI! ((FHRIZ0F FTSRTR)

(D) T&f#as Gl

TRATS YeIersii ST MRS MER a6 HTaa TR 81 38 2
A) IH TR

ST gl

C) helfcifdsh HTHIE

D) ST IR

B

~

(
(
(
(

IRA & Ui ael & Ty fFrefafead § @ sE-a1 syt sifart 82
A) iR =i
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129.

Maximum speed limit for Motor cycles on Municipal Roads in Assam :

(A) 80 km/hour (B) 70 km/hour (C) 60 km/hour (D) 50 km/hour
129. SPTSR (o119 GEERRIN 712 W0 HigFe™ AR Gobwos 5ifs Al (2= ¢

(A) 80 fEf/a%t  (B) 70 ™fM/eB (C) 60 RFR/AB (D) 50 R/
129. SPICE (TR AP SR (T AR Ao it ¢

(A) 80 RfL/a%l  (B) 70 RRL/RBI (C) 60 HL/RDI (D) 50 RSN/
129. STHMTE THIATER SATHRETE AR Higehel- @ sifd-en et fawm -

(A) 80 fefa/s=1 (B) 70fwfa/s=1 (C) 60 fwmfa/s=1 (D) 50 fe.fa./5=
129. 3199 § TRUTIeR Tgeh! W TR Tfeha & foru stferepam nifa i € -

(A) 80 ferHl/sa (B) 70 ferwi/sian (C) 60 Teri/sa (D) 50 ferHi/sie
130. Which of the following is not a region of Assam ?

(A) Brahmaputra valley (B) Karbi plateau

(C) Barak valley (D) Deccan plateau
130. FRFIRS (G SP™E GF S T2 2

(A) TG TG (B) I Mevefy

(C) T[T Tl (D) wifEFerey erg
130. FIF (I SRR G5 S%ee] 73 2

(A) @ el (B) I Mevefy

(C) T Gl (D) wifEwelCeR SeTe
130. TEMEI So & SAEMM S TST ?

(A) o= BRA (B) <hifdl S

(C) = BEA (D) <R ST
130. frfafed § @S- 31890 1 &9 798 € 2

(A) S = (B) hIsll TSN

(C) ok =t (D) SR 1 YEN
131. Identify the Antonym of WORST.

(A) Better (B) Best (C) Good (D) Fantastic
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132. Dangerous driving means :

(A) Jumping a red traffic light (B) Violating stop line

(C) Using phone (D) Any one of all three
132, fiofeem<s olGT BIeTal I (<111 27 2

(A) el GRRE 1125 SR (B) Bl =1125q Toike

Q) CIRIZeR 7T (D) fofRgbr I @i @bt kefbs 2=
132. ReIege SIGT SIel (TGP Gizfer) TS (@R ¢

(A) = Gife Ao SRt (B) B =g FeT

(C) PN FA (D) feafba @ e @l
132. Tiq-=rq MR wem=mE oAt -

(A) i Rk aferat A (B) U WA Wi

(C) T dEEA™ (D) M 31 SrafEsmn 28 See
132. @A SEfeT @ e ®

(A) @ Rk it dre (B) 9 G I Seced il

(C) RIF o1 YA LAl (D) Hi ¥ 9 %E TH
133. The perimeter of a rectangle is 34 cm and the length is longer than the breadth by 7 cm. The area

133.

133.

133.

133.

of the rectangle is :
(A) 40 cm? (B) 60 cm? (C) 238 cm? (D) 64 cm?

GBI SITSCFad AP 34 (5.5, Wi TR K W9 2= oS 7 (6.[. OfEs | Sirerwan cFawa
[EE

(A) 40 .2 (B) 60 (5.2 (C) 238 .f.2 (D) 64 (5.2

G STSCFCad A 34 G @R ©OF 0 20=d (50 7 Gl @ | STerwad i =1 ¢
(A) 40 G2 (B) 60 G (C) 238 AR (D) 64 G2

e At wRffe faumn 34 9.f9. o faft g srasfrgs 7 9.f9. aefad  smeaf
hifera -
(A) 40 9.f72 (B) 60 H.fA.2 (C) 238 9.fq.2 (D) 64 H.f.2

Ueh 3T o1 YIETY 34 It § 3iR o, diek ¥ 7 4t 21fush §1 379 1 &hed
(A) 40 qHR (B) 60 T2 (C) 238 g2 (D) 64 92
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134.

1 1 1
The value of the expression [ 1 = = || 1= 2 || 1= ~is:

2 3 4
1 1 1
(A 2 B) 7 © 3 )
1 1 1
134. (1 - E)(l - 5) (1 - Z]WWS
1 1 1
(A) % B) 7 © 3 D) =
1 1 1
134. (1 - E)(l - gj (1 - Z)WWQ?{
1 1 1 1
(A) % B) 7 © 3 D) =
1 1 1
134. BRAFYE™ (1 - Ej(l - Ej (1 - Zjﬁnﬁﬁgﬁ :
1 1 1
(A) % B) 7 © 3 O =
1 1 1
134. sAfvefR (1 - Ej(l - Ej (1 - Z)wnﬁ%:
1 1 1
(A) % B) 7 © 3 O =
135. The numbers that cannot be expressed in the form of fractions are called :

135.

(A) Whole numbers (B) Recurring numbers

(C) Prime numbers (D) Irrational numbers

T Fiole 2 TR @RI RAE@F @I =7 ¢
(A)  spefRan (B)  (STWstsTfe w2l
(C) CifeRs 7R (D) SIoifRER 14
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135. (@ MRANSTACE SR ol dFH 1 TR 1 IR 0T 8

(A)  wrae w2 (B) SIS IR

(C) CifeRs A (D) ST 72!
135. W sEfHE! SrEmeEel Tel o g, fedrat IS |

(A) e S (B) SIEAfthE SAAfsH

(C) a1 TS (D) TASIEe SR
135. o &AW 5= fi & ®9 § e el foran S Hehdl, shgelrdl § -

(A) g Hem (B) eIt HeA

(C) AvNH HeAl (D) TufEa §en
136. Fill in the blank : Pradhan is a driver.

(A) Good (B) Better (C) Expert (D) Best
137. Identify the Article in : The man was walking fast.

(A) man (B) walking (C) fast (D) the
138. The Bordubi Tilinga Mandir is near which town ?

(A) Bongaigaon (B) Dhemaji (C) Tezpur (D) Duliajan
138. 3qgR fbferel AR (i< F919T AT 7S SRfFS 2

(A) =izale (B) caife C) e[ (D) WSS
138. @R[ fBferel IFwe (PIN =203 IR 2

(A) =izale (B) (&G C) e (D) wferaree
138. =Rgfa fafereT Af<w o9 AR @foam 2

(A) <TSTEE (B) EHrSH (C) dSR (D) gfers=
138. st feferm dfet fora T F TE § 2

(A) ST (B) EHrSH (C) dSR (D) gferrsm
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139.

139.

139.

139.

139.

Where was the first capital of Ahom Kingdom established ?
(A) Rongpur (B) Garhgaon (C) Charaideo (D) Guwahati

YT AFSTI 2T ISl F' Do (2 ¢
(A) w7 (B) owaife (C) walzws (D) ARG

I AGCES 2N A (i Fifore = 2
(A) W (B) “lgaife (C) balzmS (D) ARG

3R HHR MR ffafas T amafral o1 MeEHmE ?
(A) I (B) TIeTE (C) =Eed (D) TR

T HHST 1 Ugelt TSIUr el wenfud s e off ?
(A) Mg (B) TETH (C) =ES (D) TR

140.

140.

140.

140.

140.

How long is an applicant required to wait to apply for driving licence after he has obtained the
Learner’s Licence ?

(A) 30 days (B) 60 days (C) 45 days (D) 6 months
ST S TR SR e T AIRe Gigfer wIRDE A W@ FR0e 98 SIECS Jao
TSI IS SICo1h! i =1l 27 2

(A) 30 = (B) 60 = (C) 45 = (D) 6WT

Blea RPFIe Siesl Siq (ST SRE™) SANSTR 9 GFew SEURSRICE HIewla Sl #tad (Giafer

L) SRR T Go) S el o] TR TS 2
(A) 30 v (B) 60 fus (C) 45T (D) 6

Y foaamen o e dRaE gREHEEE o8 Meet S eEiy dapa-ai 9@ RS faors g6 g& ?
(A) 9 30 (B) WM 60 (C) 9 45 (D) THE6

FIE Al SEfAT TARHY o U Td Th STATH | Y Fohdl 91 qoh SHh UH HH § HH &y & fow
R AEHE 7 9, o ety

(A) 30 fem (B) 60 fe (C) 45 fem (D) 6 HAfed
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141. The number plate of an Electric Vehicle (EV) in India is coloured
(A) White (B) Yellow (C) Green (D) Black
141. ORI 93 [@APies Az (BV) I 799 Fo69 399 |
(A) &N (B) =&qRI Q) g (D) =
141. SRCS @APIeF e (BV) G T T 16 28 |
(A) Tl (B) = © = (D) FICe
141. YRAE HifsergsnR MRE (EV) TR Her e Sirem |
(A) TR TS (B) TIHI TS (C) i TE (D) TG e
141. YRA ¥ $eifoze aM8d (EV) i 7ok @i o1 7
(A) WHe (B) et (C) & (D) el
142. After how many days must a newly registered vehicle renew the Pollution Under Control certificate ?
(A) 1 year (B) 2 years (C) 6 months (D) 3 years
142, THIF AGI T G2 g Ko e s7s)ef et eiy@el fxgel eiwiel #ig &1'q #ieat 2
(A) 1= (B) 2= () 6w (D) 3=
142. G T RS (@EE) e T e S7vjef FCe1 2ol fggel eelidefa (SR ARSH 27 2
(A) 137= (B) 23= (C) 63 (D) 33=
142. 7Y MRAT If~<raA EAmsHAEE 98 MemEt 394 Iead <R deeld | hRAFARE! i ?
(A) dER1 (B) IER 2 (C) TH6 (D) MR 3
142. T T3 US(hd a1ed & foTq SiA-91 9949 31afy Ul 8 9 YguUT =01 JHI01 95 i STewde Bl ¢ ?
(A) 199 (B) 29d (C) 6WH (D) 399
143. Which of the following is an output device ?
(A) Keyboard (B) Speaker (C) Mouse (D) Microphone
143. WRETRS 72T (FFCG! G5! STCH5G [Toizs 2

(A) FIE (B) R (C) ity (D) WRFTH
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143.

143.

143.

Twa @A @i =THG 77 2
(A) IS (B) Tolm (C) I (D) I

TR o1 HITH HFHA 3] (A=Y feusd) ?
A) f&aE (B) et (C) wR=H (D) HEH &’

frefafad § ¥ SiF-91 T T=eye feary 82
(A) =rErE (B) ¥R (C) ¥=H (D) HTEShHIGMH

144.

Which word in the following sentence is an Adverb ?
“The tiger is running faster”.

(A) Tiger (B) The (C) Faster (D) Running
145. Air : Eagle : : Water : ?

(A) Duck (B) Cuckoo (C) Pigeon (D) Ostrich
145. 30 ¢ 39eT 82 oAl 2 2

(A) =R (B) Ff ©) = (D) =g
145. Y 2 549l 82 G ¢ 2

(A) 27 (B)  (Ifpe Q) ARl (D) T iR
145. SR :9NI::S:?

(A) T (B) <@ @ (C) wRE (D) = T@
145. 9 A : : A : ?

(A) =@ (B) I (€) X (D)
146. In which country did Mohandas Karamchand Gandhi stay before coming to India ?

146.

146.

(A) South Africa (B) Uganda (C) Egypt (D) Sri Lanka

SITS(e YR SR AT IZmI F617 oI (e oo Tifes 2
(A) wfFe wifEt (B) Zoallel (C) 32&a (D) A

SICS SR SITe (N FAI6IT AR (e (e fegew 2
(A) Rl Sl (B) Tl (C) = (D) A=
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146.

146.

qRaTe i fom qeae e TR I8 gedd AqEEie ?
(A) el SAhept (B) =l ) fam (D) Hiciet

IR 3 ¥ Tge] Hee™ Higss Mel fFa A W w® 972
(A) <fEu el (B) el ) fr& (D) dicient

147.

147.

147.

147.

147.

Which of the following is the name of a Continent ?
(A) Austria (B) Armenia (C) Andrea (D) Australia

RIS T[S (FCG! G5 SR 1N 2

(A) g (B) el (C) afem (D) Cgferl
TIHR (0 G TR T 2
(A) =g (B) el (©) ifar (D) Bl
TR S R ST T 2
(A) et (B)  TRAfaN (©) = (D) srerifern

frfafed & ¥ ®H-91 T Hegd &1 W T ?
(A) e (B)  STHfT (C) Ttfgm (D) steferan

~ A

148.

148.

148.

148.

148.

Which of the following communities of Assam features prominently in Rita Choudhury’s novel,
Deu Langkhui ?

(A) The Kacharis (B) The Mishings (C) The Tiwas (D) The Mottocks

ol GIETIT TG (e kYR © RIS (@i Mz T2 2s T SR ?
(A) IR (B) fuifbe C) fea (D) o5

el (AR ST (78 =NkYE G RS STemReler N @E ReTeiE S (e 2
(A) = (B) fafr ©) fou (D) s

a1 S I =, <9 AGE, A STHMH g6 SR FRE o e ?
(A) wHBH (B) fufd (C) o (D) W&

Tar Al & ST <3 ARGE | o9 & frAfafed § ¥ R weE S yEd | g9 7 ¥ 2
(A) wBR (B) THf&T (C) e (D) HIE®
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149.

149.

149.

149.

149.

Zebra crossing lines marked on roads are meant for :
(A) Reducing speed

(B) Pedestrian crossing
(C
(

) Giving preference to other vehicles
D) Crossing of Animals

S 4P (T TR 2 A T9ze = ¢
(A)  AferRel TR

(B) ~AYBIST il =g =4ta

(C) ) NTIT walfedR maee

(D) =i 25il[ PrsiiT 23te

ABR A (&Gl TR wlai el @R 2
(A)  sIfStasl 5 TS

(B) BT “RI~R 2ex

(C) o TP AP (el

(D) i 2T zewq

A | S s e e i € 2
A) Y @ gremE

B)  TETEIThIE! TTHI SREHT

C) T MRERA @1y &1

(
(
(
(D) SE-AR®RE! SIEH]

e T 3Afehd SIo T A1 foheeh forg Bt § 2
A) T wH B

B) Ugd At 1 areTH

C) T Tl bl Wrefiehal <A1

(
(
(
(D) a1 IRTHA

150.

Which word is incorrectly spelt ?
(A) Possible (B) Permission (C) Pressure

Posess

-000-
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